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M. SX XY A=
o =5X01gt &4 (CH9: &S1)
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127,132,076

447,463,580 16,090,082

=R T Y

=

J

Paa
0
J2
]

69,421,805
46,706,771
1,757,939
6,579,129
14,377,966

64,220,686 5,201,119

oW

=

Jt
~
x
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490,144
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]
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Y
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!
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1,000,000 *14

2,000,000& %14

1,000

1,000
2,000

2,000

7,339

26,339

2,000

202 04|

7,200

7,200

01 SLH0ILI

(OEINPI =R

20,0003 6 +602]

7,200

7,200

7,200

7,520

7,520

4,800, 0002 * 14!
2,720,000 14!

7,520
4,800
2,720

7,520

2,300

2,300

2,300

2,300

1,500,0002 *14]

2,000

1,500

2,000




A= SXeR= A 0 SXNEHY
M =X dAAHE A=
el SX0e &4 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
OS2 At 2eldl=
500,000 *14 500
02 Z324l 300 300 0
OFUE Moll71s STHAIAE AIEZ
25,0003 128 300
4.11 ZE &= Holl—#s K& 47,523 88,604 A41,081
T 47,523
301 LEtBEF 47,523 88,604 241,081
s 47,523
14 JIEt2 43 47,523 88,604 241,081
O'23d 4.11. ZE &2 OIS U=z K&
47,522, 7303 14! 47,523
& 47,523
MBIZSXIAE EEAMK SX=2 K& 109,080 110,280 21,200
& 21,816
Al 87,264
301 LetEEZ 109,080 110,280 21,200
& 21,816
Al 87,264
14 JIEt2 43 109,080 110,280 21,200
OAMBISXIAIE SALR SXIxE X2 (4HL)
109,080,000 * 14! 109,080
= 21,816
Al 87,264
MSISEXIAE SAR MLIHE 310,000 300,000 10,000
307 QI2H0| A 310,000 300,000 10,000
10 IS SXAIEHE2ZHIEX 300,000 300,000 0
OAISISXIAIE SALR SXIEE X
300,000,000 *100% 300,000
1 ARI=EXAIEE X 10,000 0 10,000
OAISIEXIAIE SALRL 43t K&
10,000,000 *100% 10,000
MSXD2 A HME=E K& 27,000 23,400 3,600
T 5,400
Al 21,600
301 LetEAEZ 27,000 23,400 3,600
& 5,400
Al 21,600
14 JIEt2 43 27,000 23,400 3,600
OMZISXID|1Z SAERL HMExE 25
DLENY 27,000,000& * 14! 27,000
& 5,400
Al 21,600
AMISXAIE SAHA dol28 s K& 24,475 12,125 12,350




A= SXeHE= A SXNEHL
M =X HAYY 2=
el SX0e &4 EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
< 12,237
Al 12,238
307 e12+0ld 24,475 12,125 12,350
< 12,237
Al 12,238
06 283 24,475 12,125 12,350
OAZISTIAIE SALL doi2gE X
24,475,0003 %14 24,475
< 12,237
Al 12,238
AZISX 2SR ADIEE 21,268 13,840 7,428
201 2Bt ] 21,268 13,840 7,428
01 AFR2telHl 10,000 10,000 0
O=NEgE3R 82ty ARAz U=
10,000,000 *14] 10,000
2 55234l 11,268 3,840 7,428
OSHS AISNERE FUHES 23
39,0002 =21CH* 123 9,828
O2A2S0{2eA HEE Halk=s
40,0002 3 * 123 1,440
AlEXME 2= K2 10,500 0 10,500
< 2,100
Al 8,400
201 Zet=E] 10,500 0 10,500
< 2,100
Al 8,400
01 AlR2telHl 10,500 0 10,500
OMalEIRIE 7= A
10,500,000 * 14! 10,500
< 2,100
Al 8,400
CHHAOHS SEXI3 130,000 14,000 116,000
< 26,000
Al 104,000
301 LetENZ 130,000 14,000 116,000
< 26,000
Al 104,000
02 A2 XSG (FHAAHS, NSWE) 130,000 14,000 116,000
OUXHIE SEXNH(HEHESES)
1,000, 0002130 130,000
< 26,000
Al 104,000
SS0IEF2 I3 XIE AL 29,270 25,128 4,142
< 8,780
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SN SRE D

M =X HAYY 2=
el SX0e &4 EER=E)
Al = % o|(5 = dEE =
A2 2A - B 9(3) - HIRAY - BES Ol & S DS
Al 20,490
301 LEENS 29,270 25,128 4,142
< 8,780
Al 20,490
02 ANRI2HHFS(HAAS, NLHE) 29,270 25,128 4,142
O=stolg==al =t Xd & FHEANHS
s X 29,270,000& x14] 29,270
< 8,780
Al 20,490
SeOIg==2AE XHEels =29 950 945 5
= 650
Al 300
201 Zet=3hl 950 945 5
= 650
Al 300
01 Ar2teltl 950 945 5
O=&0Ig=2IXY X9 s 22+
950,000 14! 950
= 650
Al 300
MNEERRY S X (HEAY) 513,409 398,848 114,561
301 LEEHZ 513,409 398,848 114,561
0 AMRISRIALHS 513,409 398,848 114,561
OAIS2RE 2+
1,200,0002x30& + 122 432,000
OAZI=S22¥ 1=
309,840+ 11H 18] 3,409
OAZIZ2e¥ LS|
3,400 302 x250 25,500
OAZISR2¥ Al
7,000 x30E *250 52,500
2 MHEH XA 20,000 18,000 2,000
< 10,000
Al 10,000
307 el2+old 20,000 18,000 2,000
< 10,000
Al 10,000
1 AMISETAMLER 20,000 18,000 2,000
O HIEH &5 At
20,000, 0002 «100% 20,000
< 10,000
Al 10,000
S| SE A S3tled| X1 86,400 93,600 27,200
< 86,400




A HEE SN SRE D

-

;=X G4BT =

 =X0|gE =4 (CH9: &S1)
224 3. B(3H) - ASAY - BAS 0 &y e HIRS2
301 YEtE N2 86,400 93,600 NT,200
& 86,400
02 A BEELHS(HSHS, NSMA) 86,400 93,600 AT7,200
OXHo|S&t it 3| X2
86,400,000 14! 86,400
= 86,400
KEXESE AIBIAHIA SEXAIS (AEH 1,276,811 1,192,286 84,525
= 893,767
& 191,522
Al 191,522
201 Let2AH| 2,000 2,000 0
= 1,400
& 300
Al 300
01 A22teld| 2,000 2,000 0
ONAKIBE MEIAEIA EXAIY 2
2,000,000& *13 2,000
Fay 1,400
== 300
Al 300
202 044 386 386 0
Fay 270
T 58
Al 58
01 ZLHOHI 386 386 0
OXEX=E AMSIMHIA EXAE &9 o
]l 386,000& *13 386
= 270
= 58
Al 58
307 QI2t0| ™ 1,274,425 1,189,900 84,525
Fay 892,097
= 191,164
Al 191,164
05 aI2teE 2 1,274,425 1,189,900 84,525
OXNEXEd MIIAMBIA EXTAY XA
1,274,425,000& 1 1,274,425
Fay 892,097
= 191,164
Al 191,164
AMESSAUIA XA 348,935 0 348,935
s 244,255
= 52,340
Al 52,340
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-
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Ofl &F2H

MEE
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SRR
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2,800
600
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2,800
600
600

4,000
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=
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2,100
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SARNEY

=
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3,000
2,100
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307 212t01™

SARNEY

296,59
207,617
44,489
44,489

296,59

296,595,000 14

M

296,59

296,59
207,617

296,59




e =M

-

DA dEE 2R
o =X0e &4

P ENEE

(&2 &3)
Al = % o|(5 = dMEE =
A 2A - B . () - HIRAIY - BES (1;| Palgely Ol AtoH Hlwsz2
= 44,489
Al 44,489
2228 NI 108,000 0 108,000
= 76,000
= 16,000
Al 16,000
307 2I2+01A 108,000 0 108,000
= 76,000
& 16,000
Al 16,000
05 CIZtAEt 2 108,000 0 108,000
O23ES AMHIA X
108,000,000 * 14! 108,000
iy 76,000
& 16,000
Al 16,000
KNEXESE ALZAEIA FHUX KJAY 66,838 0 66,838
iy 46,786
T 10,026
Al 10,026
307 2I2+0l ™ 66,838 0 66,838
= 46,786
& 10,026
Al 10,026
11 AL =SXAMSEES 66,838 0 66,838
OF <Xl XIJAIY lHEIE
23,419,000 *2JH 2~ 46,838
= 32,786
& 7,026
Al 7,026
OF AN KNI 22|
10,000,000 =271 2~ 20,000
ax 14,000
& 3,000
Al 3,000
=JtE= 22 & XA 7,334,245 6,345,780 988,465
& 1,213,600
Al 6,120,645
2= - X 298 =4 7,334,245 6,345,780 983,465
& 1,213,600
Al 6,120,645
S XA 268,000 202,000 66,000
307 212+01™ 268,000 202,000 66,000
03 PIZIHXBE2IHIE X 268,000 202,000 66,000




A= SX0A= 2 0 SXEH
M IIEE 242 L XA
o°4e: B2 .t 29 54 (SH &)
AZ 24 - 3H - () - HRAY - BEZ Ofl kel OE:IE% Hwsz2
OBEc 29X (10014) 268,000
oisI=A0IZZ3 ZAEAIXE 22
26,900,0002 *100% 26,900
oI M ES2ERFIILAEAMNE 29
26,900, 0002 *100% 26,900
oligeI=mzdES=2Z0IYCI2ENS 23
26,900,0002 *100% 26,900
oS RB+ENILEAMXNE 29
26,900,0002! *100% 26,900
oI NINE LI LEAXNE 29
28,900, 0002 *100% 28,900
cYS3ZEANKE 29
25,900,0002! *100% 25,900
olisiI=E4AdRRE 3 AERXE 2
& 25,900,0002 *100% 25,900
oUSAMEZCISG 2
25,900, 0002 *100% 25,900
6. 25BN FBASLEARXSG 29
26,900,0002! *100% 26,900
oSz YNEMNIIAEAMNE 29
26,900,0002 *100% 26,900
SEUHAL o & X2 5,711,440 4,665,500 1,045,940
301 LEIE2EF 5,654,000 4,625,600 1,028,400
02 MBI 2EHE S (FHUAHS, NSTHA) 5,654,000 4,625,600 1,028,400
O2DIEEUAMN BE2HH S
180,000 *2, 300 * 12& 4,968,000
O=NFEX AILZ23
200,000 100 20,000
OZE 2 =)"3k A2
30,0002 100 23] 6,000
OAIY 2HSBKA tHSA =2
100,000 *550Y « 122 660,000
307 212t01H 57,440 39,900 17,540
04 QIZHSHAIAIE 2 &= 57,440 39,900 17,540
Oet8& AR =
1,400, 000& *10ZH &l *100% 14,000
ONEXFEHA IR
2,940,0002 *100% 2,940
OE==Z3tMl AL 2
10,500,0002 *100% 10,500
O2=2HH Estaty XA
3,000, 0002 *10ZH &l *100% 30,000
2T AU XA 828,000 936,000 108,000
== 828,000
301 L2 EZ 828,000 936,000 108,000
< 828,000
02 ANSI2EHE S (FHUAHNS, NSTHA) 828,000 936,000 108,000




A= SXeR= 2A ¢ SXE
M ZEE 2el € XA
ol 222X 28 =4 EER=E)
AR .2 . HEH. CI-_‘,’_|(§D1|) - HIEAIY - HH2 0 AFoH SEE Hn=2
OZJE Fddo=g XA
60,0002 1,150« 123 828,000
= 828,000
LR 220 X2 381,600 392,400 210,800
= 381,600
301 LEBNEF 381,600 392,400 A 10,800
= 381,600
02 AISI 263 (HAAS, RLTHR) 381,600 392,400 A 10,800
OZ3T B2Z0=g XA
60,0002 *530H « 122 381,600
= 381,600
BE2IS A 70,565 64,000 6,565
201 L2 | 61,565 56,000 5,565
01 ArR2eltl 23,565 18,000 5,565
OE=28A =4I 3,000,000 14 3,000
O =8A 1828 MH
10,000& *1,50074 15,000
Q&AL IHE XN=2Z2H
15,0002 7 Al 2H+53H 5,565
03 A2 38,000 38,000 0
OE2JEdA 38,000,000 * 14! 38,000
301 LEHBEF 9,000 8,000 1,000
11 HARHIRIE S 9,000 8,000 1,000
OE=28A N2 Atdlg £ =4I|
9,000,000 14 9,000
2232 29 22,440 26,640 4,200
201 2Er2 ] 22,440 26,640 4,200
01 ArR222lt| 11,440 12,640 21,200
OAYAYd otdze| i =2
180,000& *12& 2,160
ONMEEY &Xt= 600,000 *2CH* 1 1,200
Oa%Ad HZLEH =2
600,000 * 14 600
OHIIAY AEHAL =2
180,000& *12& 2,160
OFEAN 5T S22
180,000& 128 2,160
O&EA JIEL AIE2 FRI2e
180,000& 128 2,160
O=2A2S 2l 1,000,000 * 14 1,000
02 E324Hl 11,000 14,000 A3,000
O3 EAdE e A=l
2,000,000 14 2,000
OE AIZ&Hl =X
3,000,000 14! 3,000




SN SRE D

‘3‘? éé_LEU'HI %%x%/é EER=E)
AR 2A B S(BH) - MBAE - BAS ofl vy aET HmE2
d=-FA-85%-8 o 8= = ofl &b S2

EEEEEEENL 6,000,000 14} 6,000
HdEIIEE 22 29,320 39,240 N9,920
101 2124d| 5,320 5,240 80
04 JI2tHNI22 XS24 5,320 5,240 80
OsZEY| o1zl
106,400& 5 x 10! 5,320
201 LEr2AH| 4,000 4,000
02 2Z22ZH| 4,000 4,000
(OFSESPIN= =R =N
4,000,000 =14 4,000
401 A& HILE0HY] 20,000 30,000 A 10,000
01 Al&HI 20,000 30,000 A 10,000
OFFIIEE B4 L HH|
20,000,000& 14! 20,000
SER3A4 25 2ad XA 20,000 20,000 0
o= 4,000
Al 16,000
307 2I12+0| & 20,000 20,000 0
= 4,000
Al 16,000
01 2z & 3= 20,000 20,000 0
O=gR2L & |F 24| A3
1,000,000& x20 * 13| 20,000
= 4,000
Al 16,000
OJAMM AL HIR=E 2,880 0 2,880
301 LEtEX 2 2,880 2,880
02 A2 & X262 (F2HS, L) 2,880 2,880
O2AMI &F 100,000& *1H x 128 1,200
OQ AR 453 60,0003 x1H*12& 720
Ol &kt 53,62 40,000 x2H*12& 960
XNEAE 2X0|8 2= 2,616,850 2,700,600 A83,750
= 1,140,600
& 180,309
Al 1,295,941
FOIMER|R MYIA 1,475,350 1,640,200 164,850
= 1,140,600
& 152,575
Al 182,175
KNS AIS AHIA AHAIS 8,200 8,200 0
201 LEr2AH| 1,000 1,000
01 AFR22t2ldl 1,000 1,000
O3|U=XAIY 29 1,000,000& 14! 1,000




IR =M

SN

2 NS Atel SXJE 25

CHelr FRIMERIE MHIA (St &)
AR . 2N B 09 (3H) - NRAY - B2 ofl b dE= RS2
d=- 74358 = 45 . 0l & s
202 04b| 7,200 7,200
01 2L Y| 7,200 7,200
Os/=T YL Fa
20,0002 x6H *603| 7,200
218X XEAH 1,425,750 1,612,000 186,250
= 1,140,600
& 142,575
Al 142,575
301 LEtEAZ 1,425,750 1,612,000 186,250
= 1,140,600
= 142,575
Al 142,575
01 AIBI 2 & A& 251 2(2DEXTHH) 1,425,750 1,612,000 186,250
OAZ=N WAL
1,425,750,000& * 1A 1,425,750
= 1,140,600
o= 142,575
Al 142,575
A& 218 X&) Al 20,000 20,000 0
& 10,000
Al 10,000
301 LEtEX 2 20,000 20,000 0
= 10,000
Al 10,000
02 AMBIBXEMLGZS(FSHS, KNSHH) 20,000 20,000 0
OXtatel 212X NJALS
20,000,000 & * 1A 20,000
= 10,000
Al 10,000
KNI AISI S & A 21,400 21,400
201 LBt AH| 1,400 1,400
01 AFR22t2ldl 1,400 1,400
o294 70,000& x4 H*53] 1,400
207 AP IHEH] 20,000 20,000
01 A7 E24H| 20,000 20,000
OXISAS B &R AL 20,000,000 & = 1A 20,000
SNAE 29 1,141,500 1,060,400 81,100
o= 27,734
Al 1,113,766
EEHAISIEX 2 29 KA 712,000 628,000 84,000
307 21Z2t0| ™ 712,000 628,000 84,000
10 AISISXAIEHAESIHIEX 712,000 628,000 84,000




A= =xoe=

M XGAtel SXDIEt 25
D BIAAE 29

SN SRE D

g =g (Er9:&e)
A2 2N BB O9(3) - HRAY - BES Ofl by A HImEET
OEAg =2 2E XA
712,000, 000& *100% 712,000
A= X2 2t 6,000 6,000
401 AlEHIZLE0HY| 6,000 6,000
01 Al&HI 6,000 6,000
O3Z AMEE H)| HEEE 2H
3,000,000& *23| 6,000
SEAIZ SR JlsE22 10,000 0 10,000
= 5,000
Al 5,000
402 QI2HXHE0IN™ 10,000 0 10,000
& 5,000
Al 5,000
02 QIZFAEAIE B A& (OIMTHE) 10,000 0 10,000
OZEAIZ =X Js22
10,000, 0002 *100% 10,000
T 5,000
Al 5,000
sSHS XNSAREEE N 29 52,500 74,400 A21,900
307 QIZt0l ™ 52,500 74,400 A21,900
02 IZHEAAMHE R 52,500 50,400 2,100
OSHS NSAZ SN 435t
2,500, 000& %2171 2~ *100% 52,500
KNAAZ SEEEOAM 29 115,000 110,000 5,000
& 7,590
Al 107,410
307 CIZ2t0I A 115,000 110,000 5,000
T 7,590
Al 107,410
10 Al = XA EBHE2IHIEX 115,000 110,000 5,000
OXIGAZI EEE M 2435
37,950,000 *100% 37,950
= 7,590
Al 30,360
OXY AN BEE M EATHAIHIZEI
77,050,000 *100% 77,050
A= XE23 28 XA 116,000 110,000 6,000
T 15,144
Al 100,856
307 QIZtoI™ 116,000 110,000 6,000
= 15,144
Al 100,856
10 AISIS XA EEE2IHIE X 116,000 110,000 6,000




A= =xoe=

SN SRE D

2 NS Atel SXJE 25

=Rl SXNAE 29 (SH9 H2)
AR .2 - HH . t:}.<,>_|(§|)1|) c NIEAIY - HA S Of| AFOH SEE Hnz=2
OAtsl=XE2s 29 K&
75,723,000 x100% 75,723
< 15,144
Al 60,579
OABI=XIE2sl 28 X2 (AIHIFIH)
40,277,000 *100% 40,277
J=ZCHT 2 XJ 130,000 122,000 8,000
307 QI2H0| M 130,000 122,000 8,000
10 Al ZXAIEHE 2FHIEx 130,000 122,000 8,000
OZEFEYT 29 XA
60,000, 0002 *100% 60,000
OZENEEYT 29 XA
70,000,000& *100% 70,000
S| =MHESE 591,178 6%, 178 A 105,000
= 165,000
s 154,475
< 159,000
Al 112,703
HAsSE Meotd X3 591,178 6%, 178 A 105,000
= 165,000
= 154,475
< 159,000
Al 112,703
AlZT SetAtdl 22l X3 15,000 15,000 0
s 7,500
Al 7,500
201 Let23| 7,500 7,500 0
= 3,750
Al 3,750
01 Ar22eltl 7,500 7,500 0
OLHT Atdl2elAtY 22|
7,500,000 14 7,500
s 3,750
Al 3,750
301 LB NZ 7,500 7,500 0
s 3,750
Al 3,750
01 MBI BEAHZ2(2DEXTHA) 7,500 7,500 0
OIS Atdl2tel At XI&|
7,500,000 14 7,500
= 3,750
Al 3,750
SEAIZ2IAL Q1A X2 (29 XId) 13,000 8,000 5,000
s 2,000




AEVHEE: A =NE
Mo 20| EMBEY
el NaSS dg0d X2 (St &)
4224 - HE - B9I(EH) - AIRAY - B of v e HIDE2
Al 11,000
201 er23y| 1,000 800 200
[ 500
Al 500
01 AtR2tc|Hl 1,000 800 200
OSSAtI 22l At 243 N2
1,000,000 *14] 1,000
= 500
Al 500
202 04l 12,000 7,200 4,800
= 1,500
Al 10,500
1 =048l 12,000 7,200 4,800
OSeAtdIZelAb 2ot XId
1,000,000 *3H 3,000
[ 1,500
Al 1,500
OSBAIZRIAL 2UIGIHI X1 (AIBIZH)
9,000,000& 14| 9,000
SHE XEY SEAMHIA X 207,108 207,108 0
= 144,975
Al 62,133
201 fet= 3| 103,554 103,554 0
[ 72,488
Al 31,066
01 At22t2l] 103,554 103,554 0
OSHs X=E SEAMHIA 23|
103,554,000 * 14| 103,554
= 72,488
Al 31,066
301 EtE N = 103,554 103,554 0
= 72,487
Al 31,067
01 Al EE A S (2 RDEXA) 103,554 103,554 0
OsHs UEg SeAtlA Xat|
103,554,000 * 14! 103,554
[ 72,487
Al 31,067
ROz SXNAMHIA XX 3,430 3,430 0
201 er23| 3,430 3,430
02 S5=2g4l 3,430 3,430
O=s2= & HAl 1,630,000 *1CH 1,630
OXtg= Al 1,800,000 *1CH 1,800
SNAXN 2= Xd 5,040 5,040 0




AEVHEE: A =NE
Hu: BOD|EMESEY
el NaSS dg0d X2 (St &)
4224 - HE - B9I(EH) - AIRAY - B of v e HIDE2
201 er23 | 5,040 5,040
2 52484l 5,040 5,040
O=NAZAL 2= 82
210,000+ 122 2,520
OSEAtdIZCIAL RS SAl]
50,0003 *3CH* 122 1,800
OSXNAZAN 2=22E Sald|
60,0002 1L =122 720
SXTHAZA 2= & 27 17,600 17,600
201 Ler23| 11,000 11,000
01 At2teltl 7,000 7,000
OJI1F2=t2ds oo 24
750,000 22 1,500
Oguuel g AT M=
300,000 5% 1,500
OJ2=2=t2dst 28 228 M
10,0003 » 15024 1,500
O=AAE g= B M
10,0003 250 2,500
03 A= 4,000 4,000 0
Olt=s Eollel dg SUHA
3,000,000& *12] 3,000
OAt2| SEAIY A 500,000& 22 1,000
308 AtXIEMSOIH 6.600 6,600
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OL=AN 0e & AR A& 6,000
S AHE - At= 22l 3,000,000 %14 3,000
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& 17,700
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OdisH 29 8,000, 0002 *100% 8,000
OWEHASEAIE SALL st XA
4,400,000 *100% 4,400
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Dl 4,900
= 1,050
Al 1,050
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ONEEALHT BEAL 2
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6,000, 000! +100% 6,000
OR183] MHES CHZ)ECH HAEIY(DS)
20,000,002+ 100% 20,000
OCtesst HE 2 Ol DS (DS)
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p 207,605
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Al 1,600
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= 4,000
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= 1,474
Al 5,8%4
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OUEeE LdEZNSXNET A HRIE K&
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& 1,474
Al 5,894
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== 128,445
Al 513,780
OO0l SSMEIAMBII2 LHE IR (Al
=JIh 300, 000 #1270 2 100% 3,600
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301 LEENS 18,000 18,000
02 A S2EHS(FIANE, XLETHE) 18,000 18,000
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3,000,000 x6& 18,000
SIRDIIESIIAIE ANEYaA A4EXIE X 6,097 4,002 2,09
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J| 18,000
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Al 2,250
A2ERE OtsY=FH|l XA 36,000 24,000 12,000
= 18,000
& 3,600
Al 14,400
301 EIEXZ 36,000 24,000 12,000
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15,0003 *18 Al 2++5H 1,350
02 32| 84,736 67,920 16,816
02322 & A 65,220
ocdMIIR3 4,000,000 122 48,000
oNIIR3 20,0003 = 1CH+ 128 240
oV fedss 30,000 «3CH* 123 1,080
oot 23 100,000& «12& 1,200
ofE=E M|t HelH|
100,000 *13] 100
oAYOtME S| 100,000 * 12| 100
ocEAESHEAILES H3H|
1,200,000& *13] 1,200
SEEREP FaEsi=g=) 100,000& *23] 200
oM=X HA 450,000 *23| 900
oMl A 7,000,000& * 14! 7,000
ozl 1,000,000 42| 4,000
cUSRY REHZ 1,200,000 *14] 1,200
OA& &l FX 19,516
oz 429,000 %43 1,716
ocAYAIE HE= 900,000& »23| 1,800
oE™IIAIE 1,000,000 14! 1,000
<JIE a2 =H
15,000,000 & * 14! 15,000
03 ALZ | 181,000 211,000 A30,000
O ALEZ3I2 A 14,000
o &I 2 A 5,000,000& »24! 10,000
ogrstEY 2,000,000 *24] 4,000
OFaxd gsXd 45,000
obd FAUWOY 23 HAEY
25,000,000 3 14! 25,000
oxXEEsE JEZZY 2Y
6,500,000& »24! 13,000
S REXID| = ZTHA 7,000,000 14 7,000
OXLHAAHANGE 29 15,000




e EE

2A 1 ARIEY

HH: HAH 25 U |4
ool HAE S4 (CHl )
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
o3 &M JEZZ )
5,000,000 14 5,000
cW=EIIZANE 5,000,000& x24 10,000
OEAEXXES K& 17,000
oFAES0IE 2
8,000,000 »14! 8,000
cEHAEEFHRARS
3,000,000 14 3,000
oFC=ItH 2% 500,000& * 123l 6,000
O&AY O S43 Z2 08 (wsS)
50,000,000 14! 50,000
OEHI BRSts|(NS)
10,000,000 14! 10,000
OSMA=3(LE) 10,000,000& * 14! 10,000
ONEH n3S%s(WS)
5,000,000& » 14! 5,000
OFIIHF3|(1E) 9,000,000 14! 9,000
OLAHAAER} XEMY|(WE)
6,000,000 14 6,000
301 LEBEF 160,000 38,000 122,000
11 HARHIKIE S 30,000 38,000 8,000
OFEALEEAL EIt 24t
500,000& *603! 30,000
14 JIEt2 43 130,000 0 130,000
OJIEtE a3 130,000
oZJ|IZH 30,000,000 24! 60,000
oY EL 5,000,000& x24 10,000
oRQIAAEL ZAIZE(1S)
60,000,000& 60,000
401 A& HIZL20HH] 150,000 50,000 100,000
01 Al&HI 150,000 50,000 100,000
OFLEEE NES SA 150,000
S AAE HHAZDI| WHISA
150,000,000 * 14! 150,000
405 XHobE S| 5,500 13,000 AT7,500
01 AL S SH =S| 3,000 11,000 A8,000
Ot & 25 FSHI 3,000
SIE=Y) 1,500,000 *2CH 3,000
02 S 2,500 2,000 500
O=M-7HI 2,500
o N FY 15,000& x100 1,500
ocFaNtzg Y 1,000,000 *14] 1,000
HAaE FZHololxy XA 151,000 84,000 67,000
201 LBr23| 33,000 15,000 18,000
03 &At2ZH] 33,000 15,000 18,000




e EE

FA ¢ FIED

f

HM: AW 25 Y 84
chelr HAd |4 EERED
Al = X ol(& = E“-‘jE =
A 2A - B . () - HIRAIY - BES (1;| Palgely Ol Abou Hlwsz2
O T2 2H(WS)
33,000,000 %14 33,000
202 Ot 13,000 9,000 4,000
03 220 13,000 9,000 4,000
O=NUFAS L AHS olE
6,500,000 2% 13,000
301 LEEE S 105,000 60,000 45,000
08 212+01=29| (44| 80,000 60,000 20,000
O=MnFo4 Y A2
80,000,000& % 14! 80,000
14 JIEI2 A2 25,000 0 25,000
OOIOIT 22 LAIR(RE)
25,000,000 #14] 25,000
SEHAEARGOE 2Y 174,975 192,455 A17,480
201 LetEHy| %,175 146,255 50,080
01 AF222lgl 29,105 30,785 A 1,680
Oget4=gH| 19,960
ONREE Y 150,000 * 122 1,800
oHAADE Q|
200,000« 12& 2,400
SAIRI|D| A2E 7Y
150,000 * 12& 1,800
oM™ AH| 2l 840,000 +14] 840
ohlZ =R 20,0002 x15+12¢ 240
oJ|l EE= NE 1,000,000 23| 2,000
cHLZ M EE=2 MEH
1,000,000 %23 2,000
oleigt BtED| X2l
35,0002 12& 420
oXMIItM HEZ 1,500,000 13| 1,500
o ROIHHIANAE HZ
180,000 *12& 2,160
o222 BAE2 700,000 %43 2,800
o002 Hadl 1,000,000 13 1,000
oABAIE B 500,000 23| 1,000
ogYxz 6,265
o2E - MH|l UXI2
2,000,000 *23] 4,000
oF¥D| Utz 62,9002 x3CH 128 2,265
OZ4t| 2,880
o224 9,000 4% 80 2,880
®2 33294l 24,870 24,870 0
02222 2 HA 18,670
oMIIL2 1,300,000 « 12 15,600
oNgea 10,0002 * 12& 120




A= SXeR= A ¢ IRIEN
M HFAE Bs 2 54
ool a9 |4 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
oV RUEsz 25,0002+ 128 300
oiot+E 23 100,000 122 1,200
o AOIME 3| 50,000&*13] 50
ocEAME 2= 100,000& x23] 200
Shl= UE== 50,000&*12& 600
oFEAEUSHEHAIEES H3H|
600,000& *13] 600
OAlIE&EH| sXId| 6,200
o HLE)| 100,000& 128 1,200
<JIE A2 =4 5,000,000 » 14! 5,000
03 A2 42,200 90,600 A48,400
OFAE Tz 23 18,200
ocHAERSAN 29
2,000,000 23] 4,000
oestEd 2H 1,000,000 *23! 2,000
oFEAEINH 29 300,000& 123 3,600
oROI0IZHA 2Z
300,000& 123 3,600
oxs M IZ2)H 2
5,000,000& 14! 5,000
OEAEESs 2 15,000
oFAESOE 2E XA
500,0002*10&! 5,000
oHAEEN 29 10,000,000& * 14! 10,000
OE2EIE 2H(US)
5,000,000& 14! 5,000
OFAH OIMME BEZ2F(WE)
4,000,000 14 4,000
301 LetEEZ 58,800 10,000 48,800
11 HARHIRIE S 10,000 10,000 0
OFEAEEAL 2Ot 24t 10,000
o™AEEIM| X
500,000& *203! 10,000
14 JIEt2 43 48,800 0 48,800
OFAEZZ ) 2H 48,800
oHAEESIAA 2 A
40,0002 *2 A1 2+%133] * 18J4 18,720
oY= ZAH|
40,0002 *2 Al 2+%53] x200H 8,000
o XIS HAH ALY ZHAHHI
40,0002 *2A| 2++223| +8H 14,080
oRHI0I2cHA 2ZAtYI
40,0003 #2A1 2++123] 960
oHAES0tE MEUF ZAHI
40,0002 #2A| 2+%223| x4 0H 7,040
401 AIEHIZL 28I 10,000 0 10,000




AR =1z SN QIRItED
HH: HAH 25 U |4
ool AW |4 CERE)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
01 Al&Hl 10,000 0 10,000
OAl&H| 10,000
o=RHAES 0N IS8 Y
10,000,000& * 14! 10,000
405 XHotE S| 10,000 36,200 A26,200
01 AL S SH =S| 8,500 34,200 A25,700
Ot & 25 FSHI 8,500
cZdFH 1,500,000 *5CH 7,500
o &0 1,000,000 *1CH 1,000
02 T 1,500 2,000 AB00
OE= M-I 1,500
oM7Y 15,0002 100 1,500
HAES NS00l 2 116,630 107,940 8,690
| 34,045
= 17,022
Al 65,563
201 L2 | 47,624 58,401 A10,777
| 4,602
& 2,301
Al 40,721
01 At 22|l 41,200 37,087 4,113
Os22 H&HHI 1,000,000 14 1,000
| 500
& 250
Al 250
OYUZ0I20I0l SALK W=H|
150,000 2% 300
| 150
& 75
Al 75
OX&gasl slojgd =5
70,0003 7 H*23] 980
| 490
& 245
Al 245
OHIANRES I
125,000 *44! 500
| 250
& 125
Al 125
OFILXreE 29| (A0
170,000 x226 38,420
02 Z324Hl 624 614 10




e EE

A RIS

Hr: HAE P95 U 54
el 34 54 (SH9 H2)
A2 .24 ZE . S2(E) - NIRAY - BES ol b e HlmS2
SEFENEEFREEE
360,000 *14] 360
| 180
= 0
Al 0
EAANAE 22,0003+ 122 264
| 132
= 66
Al 66
03 @At2ZH| 5,800 20,700 214,900
Ogls T2 29
250,000 x44] 1,000
J| 500
= 250
Al 250
On =l 400,000 x 12 4,800
J| 2,400
= 1,200
Al 1,200
301 LPBENZ 69,006 49,539 19,467
| 29,443
= 14,721
Al 24,842
11 HAAHIXIE S 53,006 49,539 3,467
O=ZHees 29 2,000,000 +33] 6,000
| 3,000
= 1,500
Al 1,500
OSgXdZ=z1d 29
500,000 & *43] 2,000
| 1,000
= 500
Al 500
ozx= 29 6,086,000 *13] 6,086
| 3,043
= 1,521
Al 1,522
Oz2tgsle 2% 300,000& *43] 1,200
| 600
= 300
Al 300
O34l (2tAlh] Z&H)
6,000 x20H 230! 27,600
| 13,800




D EAgEA=
o ™HAH

A RIS

SURE CLRE)
T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
< 6,900
Al 6,900
03 )(AIBIZI]
2,2003x20EH*2302 10,120
14 DBt 16,000 0 16,000
OZ2™
40,0002 * 10 *40A[ 2t 16,000
7l 8,000
= 4,000
Al 4,000
SYE~H 247,222 314,207 \66,985
101 eI24d| 30,922 24,207 6,715
M ORNZZ2NSE S 30,922 24,207 6.715
Oo=t3d 30,922
=J|2 96,8003 * 12 +230 22,264
oFF 96,8002 x1& »46& 4,453
o XL 96,8002 x 1+ 112 1,065
cAHEE= 27,782,000 *11.3% 3,140
201 LEL2 135,200 90,000 45,200
01 At 39,670 20,000 19,670
= 16,100
SAE 150,000& * 12 1,800
o5t
150,000 «12& 1,800
150,000& «12& 1,800
odl 500,000& 14 500
ol 20,0002 x15* 122 240
ol
50,000& *122 600
o 700,000 <22 1,400
of 2 B9
230,000 * 122 2,760
150,000 «12& 1,800
o5l 200,000& * 122 2,400
SEE N 500,000& 22 1,000
OS24l 2,160
oS24 9,000 x3&*80& 2,160
ogxz 8,960
o= % dHl EX=
1,000,000& #52 5,000
&) ¥ BIHED gXz
30,0002 «11CH=12E 3,960




e EE

2A 1 ARIEY

Hu: Fad 85 9 54
ool Zad sS4 (ol @)
A2 .24 ZE . S2(E) - NIRAY - BES ol b e HlmS2
OHAE 2318E 22(2S)
12,000,000 14} 2,000
O#A IHZ XS]
15,0002 *6 Al 2H+5 450
2 S=29| 27,530 30,000 AN2,470
03322 % HMAl 21,080
ocXMIIR3 1,500,000& * 12& 18,000
oNIRa 10,000& 12 120
oTVREYER 20,0002 122 240
oQIHY 0182 60,0002 * 122 720
oMl ER3 100,000+ 12& 1,200
ocEAESHAILESIHI
800,000 * 14! 800
OAEEH| 2XIdl 6,450
o&H3tE HAH| 500,000 * 14! 500
o024 EAHI 30,0002 x25CH 750
cEZIME BEZS 100,000& *23] 200
<JIE a2 =H 5,000,000 14 5,000
03 AL2 | 68,000 40,000 28,000
O=2st4% 24 5,000
oM ZHl 5,000,000& » 14! 5,000
OFLHESKIA 3,600
oHAUE JtH 2Z 300,000& =123 3,600
O&24 UXE SH 28 (WSE)
27,000,000 14 27,000
O&A~Y XNZEMatz(1WSE)
12,400,000 14} 12,400
OS43 T2 =l S (2E)
20,000,000 14! 20,000
301 LPENF 53,600 53,600
11 SHALAHIXI A2 10,000 10,000
O LEHEAL EIF B4t
500,000& *203] 10,000
14 JIEt2 43 43,600 0 43,600
OZ2 0 A=z 2,000
os0tel s K&
40,0002 *2A| 255 +53| 2,000
OXYAHH SSME(LE)
13,000,000 14 13,000
OZZ28 AAZ(1WE)
28,600,000 * 14! 28,600
401 AlEBIZ 200 14,000 14,000
01 Al&Hl 14,000 14,000
OAl&H| 14,000




D EAgEA= A RIS

L HAS B3 Y =4
HAH =4 (ol @)
T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
oSAald HloiA SAH
4,000,000 *1CH 4,000
S ANEME(BFAS) SAt
10,000,000 * 14! 10,000
405 KHaHE SH 13,500 200,000 186,500
01 Tt =S F=H 10,500 200,000 189,500
Ot & 25 7¢ 10,500
SESONT=[EIPN 200,000 =1CH 200
SARE F8h| 6,000,000 *1CH 6,000
SR 1,500,000 *1CH 1,500
SJUFIIN 400,000 ~2CH 800
oYl IHHIY L It
400,000 *5CH 2,000
02 A+l 3,000 0 3,000
O A=l 3,000
oHAE TN P 15,0002 *200H 3,000
AMNBIFXD12 SAHL HSME =& 19,200 18,000 1,200
[ 3,840
Al 15,360
307 glztol & 19,200 18,000 1,200
= 3,840
Al 15,360
11 AMEISXAIEEE 19,200 18,000 1,200
OARISXDII2 SARL M2 =&
19,200, 0002 *100% 19,200
= 3,840
Al 15,360
LA dE3EH 23 173,052 175,192 A2,140
Jl 86,526
Al 86,526
307 elztol & 173,052 175,192 A2,140
Jl 86,526
Al 86,526
11 AMEISXAEEES 173,052 175,192 A2,140
OFaxdd=23E 29
173,052,000 *100% 173,052
) 86,526
Al 86,526
BAESIANE 2EXE 347,024 0 347,024
Jl 153,598
= 30,719
Al 162,707
307 gl2to| & 347,024 0 347,024
Jl 153,598




e EE

A RIS

M HAHE 25 Y |4
ool a9 |4 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
< 30,719
Al 162,707
10 Al2IS XA EEE 22X 39,828 0 39,828
OFALESIAIE 2SN 4UHEEZ (AL
=t 39,828,000 «100% 39,828
1 AMSTAMGEE 307,1% 0 307,1%
OHAEEXALE 2SI
307,196, 0002 *100% 307,196
2l 163,598
< 30,719
Al 122,879
St S Fad AE 192,650 209,972 A17,322
2l 94,283
Al 98,367
307 el2told 192,650 209,972 A17,322
2l 94,283
Al 98,367
10 AISNAIEHIE 22X 36,960 58,232 N21,272
Ozt 5t FAd XI2HE 2 (AIHIF})
36,960, 0002 «100% 36,960
1 AMSTAMGEE 165,690 151,740 3,950
Ostu & FAHEXH
134,690,000 *100% 134,690
2l 94,283
Al 40,407
Ozt 5t AW BFE DAl X (AIBIFI})
21,000,000 *100% 21,000
st o Had XA(2S4) 19,750 19,750 0
2l 9,875
Al 9,875
307 212+0l1& 19,750 19,750 0
2l 9,875
Al 9,875
1 AMSTAMGER 19,750 19,750 0
O3t 5 44 g4 N
19,750, 0002 *100% 19,750
2l 9,875
Al 9,875
st 8 FAaE XD X2 51,000 51,000 0
< 20,400
Al 30,600
301 LetEAZ 51,000 51,000 0
< 20,400
Al 30,600
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A= =xea= 2A 0 ARIED
HH: A 25 2 =24
el Had |4 (S &)
A 2A - B . HA(SH) - MIRAIY - BES Ol &koy gﬂg% Hlns
| Al 34,000
HAEXIZ AL BRI K2 34,747 0 34,747
bl 7,8%
Al 26,851
101 QIAH| 34,747 0 34,747
bl 7,8%
Al 26,851
04 I ASE S 34,747 0 34,747
OEAEXIZAL HHX X
26,316,000+ 14! 26,316
bl 7,8%
Al 18,420
OFAEXIZAF BIXI IR (AIHI Z=D1)
8,431,000+ 14! 8,431
OEEAE M2IBE X 146,000 144,000 2,000
=2 73,000
(= 14,600
Al 58,400
301 YetEXZ 146,000 144,000 2,000
= 73,000
[ 14,600
Al 58,400
01 Al EREAHZ2(ZRETMA) 146,000 144,000 2,000
O0AEAHE MRIEE X2
146,000,000 2! 14! 146,000
= 73,000
[ 14,600
Al 58,400
HAE oA 29 85,000 81,000 4,000
HAE Y4 HES 85,000 81,000 4,000
401 A& HIZ 20| 85,000 81,000 4,000
01 Al&HI 85,000 81,000 4,000
OFAE WYL HES 85,000
CEAS(15) WHYI| i
65,000,000 * 14! 65,000
oERAS AFA 2 FFA TIIR WA
20,000,000+ 14! 20,000
AFSAPHI(IRIIFD) 138, 160 174,702 N36,542
bl 25,506
[ 12,753
Al 99,901
ol 29 9,256 141,758 A42,502
bl 25,506
(= 12,753




=xoe= S R IESIE
$HSUA| (AP
5=l EER-E)
T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
Al 60,997
HAELUSOIHION AF Q12| 99,256 100,600 N 1,344
Il 25,506
= 12,753
Al 60,997
101 @124H| 99,256 100,600 1,344
) 25,506
< 12,753
Al 60,997
02 JIEtME = 99,256 100,600 A1,344
Ogut=02tHI0] 1AH|
51,012,000& »14] 51,012
Jl 25,506
< 12,753
Al 12,753
O 200N QIAHI(AIBIZIH)
48,243,4603 * 14 48,244
=38l 38,904 32,944 5,960
JI=23Hl 38,904 32,944 5,960
201 fer= 3| 25,104 21,744 3,360
01 At 2t 25,104 21,744 3,360
Oget=EH| 14,520
SH2A=R 20,0003 x35+122 720
CHIMNRES P
300,000 * 122 3,600
SARID] A2F 2|
600,000& * 122 7,200
oARE EAFYH 200,000 *32] 600
=J|EH =EH] 200,000 122 2,400
OS24l 10,584
oJ|28R+d S
9,000 x14SH+72x 12 10,584
202 04| 9,000 5,400 3,600
01 =LHOLI 9,000 5,400 3,600
OJl=gf=d 0|
90,0002 20 *52 9,000
203 HRP=H] 4,800 4,800
M FAZSLRFAI 4,800 4,800
ORANEg g 400,000 * 122 4,800




H & 0l & AHSH H M A
A= SXLAR M - ZZ2ZE04el
M Lol 5X B
€l LolME S (CH9: &S1)
AT RA - ZB - S9I(E) - HRAY - BAS 0ol ce e Hl@S2
ZZE00el 268,800,672 256,231,828 12,568,844
= 171,994,652
= 3,363,860
) 335,487
= 18,401,489
Al 74,705,184
Lol 2X & 227,477,035 215,585,409 11,891,626
= 148,976,448
= 3,363,860
2l 335,487
< 15,180,944
Al 59,620,2%
Lolde 28 145,699,876 136,370,382 9,329,4%
= 130,291,772
[ 2,8%,543
Al 12,511,561
JIz=AZ 144,767,136 135,395,074 9,372,062
= 130,291,772
= 2,895,343
Al 11,580,021
301 LRtENEZF 144,767,136 135,395,074 9,372,062
= 130,291,772
< 2,895,343
Al 11,580,021
01 Al EEHGIZS (2 DEXTHE) 144,767,136 135,395,074 9,372,062
OJI=¢3 144,767, 136,000 *14] 144,767,136
= 130,291,772
< 2,895,343
Al 11,580,021
ol 6,000 10,080 24,080
= 1,200
Al 4,800
301 LRENEZF 6,000 10,080 /4,080
[ 1,200
Al 4,800
02 N 2EHSFHS(HAANS, XLHE) 6,000 10,080 24,080
Ol 20,0002 +25F « 122 6,000
< 1,200
Al 4,800
024l 0 - 0188l XA 245,000 245,000 0
201 2= 5,000 5,000
01 AFS2t2ltl 5,000 5,000




a2 SXgE= M - ZZ2ZE04el
M Lol 5X B
Gl LolME S (CH9: &S1)
M. RA B O9I(S) - ALY - BAS ol &t e HIDS2
OO0l - 0I8H| NI&AMY 22
5,000,000& 14! 5,000
301 LEIEEZ 240,000 240,000
14 JIEt2 43 240,000 240,000
OO0l - 01=d] o=
10,0002 +80*3,000 240,000
d2AY R34 XA 319,500 358,188 /38,683
307 @lztol ™ 319,500 358,188 /38,683
11 AR SXIAI E X 319,500 358,188 /38,683
Ogdzalg REa4
319,500, 0002 *100% 319,500
MNAS THOHEQL AAF HHE 354,000 354,000
307 gI2t01 & 354,000 354,000
1A SXIAMSE X 354,000 354,000
OMAS THIH=Q! AIAHHE
354,000,000 *100% 354,000
OIRIFE SAAE 22 1,480 1,480
201 Lt 1,480 1,480
02 3224l 1,480 1,480
02223 4 HAl 480
oHEUSR & &ols=Z AIE=
40,0002 128 480
OAlE EHIS X 1,000
oHEUR &8 |XI2=H|
1,000,000 *14] 1,000
COISXAIME=N 2 3| 6,760 6,560 200
202 04l 5,000 4,800 200
01 204l 5,000 4,800 200
OLI=XIAIM=A 2 O]
20,0003 »5&H +502 5,000
203 BR8] 1,760 1,760
03 A=A RFAIH| 1,760 1,760
Oo=Xge=d 1,760,000 *14] 1,760
Lol S5 oMY 235 5,465,051 4,887,210 577,841
= 3,363,860
< 456,402
Al 1,644,789
LRI EESSMEIAAIS 4,573,814 4,212,386 361,428
= 3,201,671
e 274,426
Al 1,097,717
307 @201 & 4,573,814 4,212,380 361,428
= 3,201,671
[ 274,426




A= SXgA= A ZZ2E0H
M Lol 2X &
ol 2o =3 HEY 28t EER=E)
A= 24 - 3 SR(3) - NIRAY - BES Off &K %E% HusZ
Al 1,097,717
1 ARRIEXIASE X 4,573,814 4,212,386 361,428
OLIXESSSMEIA ArAXIH
4,573,814,000& *100% 4,573,814
z 3,201,671
< 274,426
Al 1,097,717
SSANBIASAA 2SEX € IS 388,800 340,200 48,600
< 116,640
Al 272,160
307 2Itold 383,800 340,200 48,600
[ 116,640
Al 272,160
11 ALSISTIAIZEE X 388,800 340,200 48,600
O=SAHIA SAHL 252X & A2a
383,800,000 *100% 388,800
< 116,640
Al 272,160
SHC SSAHAtYAHIA 2E X 324,378 211,574 112,804
z 162,189
< 32,438
Al 129,751
307 2Ito1 324,378 211,574 112,804
z 162,189
< 32,438
Al 129,751
11 AIEISTIAIZEE X 324,378 211,574 112,804
OSHo SstHotAHIA 2SI
324,378,000 *100% 324,378
= 162,189
[ 32,438
Al 129,751
SSUHELHMHIA SAKL MRS =5 7,200 3,600 3,600
< 1,440
Al 5,760
307 2I2to1 7,200 3,600 3,600
< 1,440
Al 5,760
1 ARRIZXIASE X 7,200 3,600 3,600
OSSAHEAMMHIA BEA MM
7,200, 0002 *100% 7,200
[ 1,440
Al 5,760
SSHSAUXH ALY 65,400 40,950 24,450




A= SXeR= A 0 204

M Lol 5 &

ol 2o =3 HEY 28t EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

201 22 1,680 1,680
01 Ar2eltl 1,680 1,680
O XES=SAHEIA M o=
70,0003 =2« 12& 1,680
307 gI2tol ™ 63,720 39,270 24,450
1 ARRI=EXNAIEE X 63,720 39,270 24,450
LOISEEZEAHIA ALY XA (SAlHl)
20,0003 *202Z 123 «100% 48,480
OoXEz=s It2ellt 23
70,0003 3+ 122 »100% 2,520
OSSN0l SZEMANHIA 2SI (&
=Hl) 200,000 *3H 122 +100% 7,200
OSHE2 SSoHEANMHIA 2AXA(E
=2g) 20,0002 *52] * 122 *100% 1,200
CAIZR 88 Lo=sUaX S48
4,320,000 *100% 4,320
H24 HASHAHIA 29 105,459 78,500 26,959
& 31,458
Al 74,001
307 QI2Hol M 105,459 78,500 26,959
= 31,458
Al 74,001
M ARRI=SXAIEE X 105,459 78,500 26,959
O EASH ML 23
103,659,000 *100% 103,659
T 31,098
Al 72,561
ONZ2eEASEH MEIA SAEL M
=g 1,800, 000& *100% 1,800
& 360
Al 1,440
LolHe| & 1,880,622 1,610,591 270,031
LOISXNESEAY 52,500 52,800 A300
201 23| 3,000 3,000 0
01 ArR22ltl 3,000 3,000 0
OsE2 H&E 2 2258 72
3,000,000 14! 3,000
307 QI2Hol A 49,500 49,800 A300
1 A =XAIEE X 49,500 49,800 A300
Oz 4l LA 22t
10,000,000 *43|*100% 40,000
Okolggtdst ¥ ootdE T2 XIJ
9,500, 0002 *100% 9,500
Lolg 29 157,500 155,000 2,500
307 QI2HOl A 157,500 155,000 2,500




A= SXeHE= A - ZZ2H0H
g3 Lol =X &
el oS EER=E)
A3 2A - BY . O9(SH) - HRAE - BES Ol & A DS
10 AlRISXIAIEEE 22X 167,500 155,000 2,500
Ok0l3 2&H| 157,500,000 *100% 157,500
H2alootgs XA 25,000 24,000 1,000
307 2I2t01 & 25,000 24,000 1,000
04 QIZFHAIAISE = 25,000 24,000 1,000
onzaotets XN 25,000
oHOIESUHE 9,000,000& 12 *100% 9,000
ogt=U2l 9,000,000 12 *100% 9,000
otaZXH3 7,000,0002 *12]%100% 7,000
COIMAL B0t & X 89,200 90,200 21,000
201 Let=Ehl 1,200 1,200 0
01 At2teltl 1,200 1,200 0
OLQId#AL 425 7€
1,200,000 14! 1,200
301 EtE NS 2,000 2,000
1 AREIXE S 2,000 2,000
Oelole A ZIHAL ob| 2&
1,000,000 14| 1,000
OOiH 0l AF ZIHAL OB 2a
1,000,000 14| 1,000
307 212t01 & 86,000 87,000 1,000
04 QIZFHAIAIS E X 71,000 72,000 A1,000
OL2I0II=AIANE S8 =28 f3s
22,000, 0002 *100% 22,000
Oolole AL 11,000, 000& *100f% 11,000
OLoltis T2 8 2H3|
8,000,000 *100% 8,000
OO0t Ole &AL 10,000, 0002 *100% 10,000
OH2 ABIteM X2
20,000, 0002 100% 20,000
1 ARRISTIAISE X 15,000 15,000 0
Ok AHes|dI| L2H0IES Hal(H=M
3| ZLe) 4,000,000 *100% 4,000
OZ& ozl stitg =X
11,000, 0002 *100% 11,000
atioss XA 10,000 10,000 0
307 2I2to| 10,000 10,000
1 ARRISXIAMSE X 10,000 10,000
Oatise X3 10,000, 0002 *100f% 10,000
AMEISRHE XS (HEAY) 1,546,422 1,259,591 286,831
301 Let2NS 1,546,422 1,259,591 266,831
10 ARSEREIYS 1,546,422 1,259,591 286,831
OAtIS2eE 32
1,200,0002 00 122 1,296,000




A= SXeAA= A BZ2EO0H
M Lol =X &
oelr Lolde S (SH &)
Al =] % ol (5 = dEE =
A= 2H - 3 HAZA) - MRAEY - BES Off &4 Ol &bt HnsZ
OAMZ222F 1=l
309,840& x53H 16,422
OMI=R2F WS
3,400 902502 76,500
OAI=R23 A
7,000 902502 157,500
LOIEXAIE 22l 36,699,768 36,174,167 525,601
= 2,970,000
< 8,391,569
Al 25,338,199
LoloEsENAd 2GR (HIIQLEE HES) 13,828,000 14,405,216 AbB77,216
< 6,914,000
Al 6,914,000
301 LEt2E S 13,828,000 14,405,216 AbB77,216
S 6,914,000
Al 6,914,000
02 A EE AT S (FAANE, XLTHE) 13,828,000 14,405,216 AbB77,216
O&ILZ0 XXNMEE3(AME=0)
13,828,000,0002 *14] 13,828,000
S 6,914,000
Al 6,914,000
TR Q2|2 2GR (HIIQLEE HES) 12,296,032 12,320,263 N24,231
301 Et2 &= 12,296,032 12,320,263 N24,231
02 A SEAEZ2(FHAANS, XLTHE) 12,296,032 12,320,263 N24,231
OMIEIIQYI |2 2HXA(HIIQLESE
OIEZ) 12,296,032,000& 14! 12,296,032
LEL S =ER2 29 1,238,703 1,028,022 210,681
101 2124d| 60,739 47,173 13,566
M4 IRHHZ2Z2XSES 60,739 47,173 13,566
OJIN2Z2NSE = 60,739
oJlE2a(MEsXIAL
101,600 x1H+230 23,368
o=F, AL (AIEISXIAL
101,6003 x 1«57 5,792
o A2 = (ALSISXIAH)
19,0503 1 *50A1 2t 953
=JlEa(xeld)
96,8003 » 12 %2302 22,264
oFF, Hlxg(X2lH)
96,800 1 x57 5,518
oAt +g(=2ld)
18, 1503 »1& #50A1 2t 908
osttt MEAY IR
96,8002 x5 x4 1,936
201 L2 314,452 495,729 A181,277
01 AtR2te|b] 163,902 362,989 A199,087




N e S ZRI0HeID)

Hm: Lol =X Z

ol LOI= XAl 22 (Stol: ® 2
Al = X ZH . CFO| (B ALY - HAS2 FOH ST Hl D=2t
A= 2A - B - R(3H) - HRAY - BES Off &4 mE=FZ,

Ofl &k2h

SEFZS=TT
oSIHARE L
ofg H40t Y
SAREE 7Y
== oIg H
oUMN ABF Y
ol

1
= Jn

0
02
02 MO
02
[

10 U
=
i
o
i=n

ol
0
al
4J

o

8,000,000 « 14!
B XI=

3,000,000 %14
5,000,000 * 14!
= 2,000,000 *14]

500,00024+14!
20,00020+6Z5+ 122

3,000,000 *14]
o3l A2F 2,000,000 %14
oA ADE 100,000 ~12&
otts, I AEF 100,000& « 122
odRE ARE 100,000& * 122
odEA, SCXEY AR

200,000& =128
cWEIUZNH2H AR

100,000« 122
o™=y ARE 100,000& x 122
oHZAY ARE 11,000,000 x 14!
=0[.0|184d 223 200,000& =128
SHAAE A2F 200,000& * 128

57,9003 7t =122

STl
100,000 %122
U 22

3,000,000 *14

3,000,000& 14

F

oSXB ARIME(SEOE, IUHEE
|
=

7,428,3002 %14l

60,764,000 *14]
= 250,000 *72]

491,203+ 122

68,633

8,000

3,000
5,000
2,000

500
1,440

3,000
2,000
1,200
1,200
1,200

2,400

1,200
1,200
11,000
2,400
2,400

4,864

1,200

3,000

3,000

7,429
69,774

60,764
1,750

1,980

2,160

3,120
25,495

5,8%




A= =xoe= =N B2ERID
mE: Lol =X B3
ool oIS TIAIE 22 (el mg)
AT S4B BR(E) - HRAY - BES 0] a0t A HlRE2
o ALXFEE I KA 500, 00021+23] 1,000
o=XB =8| UK +42
200,0002! 122 2,400
oot R MY ABE
90, 00021 #4CH 122 4,320
oR0IY| U DEHR| AIAE B2l 24
2 385,002 122 4,620
oI BRI 44T
605, 00024 122 7,260
2 ZZ2H| 147,550 29,740 17,810
OZZ23 % HAl 9,950
o®IIQ3 6,000,0002! 122 72,000
ST ERS 50,0002 122 6.000
oHzAY JIANEE
1,000,000+ 122 2,000
oBANMRLS 100, 00021423 200
oReYs NBE 50,0002+ 122 600
oMM MAWADED
160, 00024 +14! 150
OASRHISTYI 51,150
&I HIIAAN 242
250,002+ 14! 250
CSXBHAAY S24
1,700,0004+14! 1,700
o=X2 HEH R4
200,0002! 122 2,400
OBA HAZ B £42
500, 00021423 1,000
oHA LBHE MYIIBS
200,00024+123] 2,400
oSH HIIS(SAZ) Heltl
50,0002 122 6,000
ooz HIIE Ml
50,0002+ 122 600
oHEE HA 228
2321450, 0002 E4 23] 2,300
oJIEH AlEE STR2I(Z)
2,500,002 %25 5,000
SHAAIE 22l R
20,000, 00024+ 14! 20,000
o=XBAS oS F2 Ha
2,500,002 14} 2,500
=TT AA BA 2,500,002 14} 2,500
o=XB Wred| A
2,500,0002!13] 2,500
oYZAY FEFHA
1,000, 00024423 2,000
oozl 2,000




A= SXeHE= A - ZZ2H0H
M Lo 50 s
el ERISXIAIE 2e (Gt H2)
4224 B G9(SH) - AIRAY - BES of v e HIDE2
otdE FFHI 2,000,000& *14] 2,000
OXter, &2t 3,450
o NSXEAL ==& 50,0002 *1CH 0
oltsit &Iz 200,000 = 1CH* 122 2,400
otSxt FAE+ 1,000,000 14! 1,000
03 A= I 3,000 3,000 0
O"gAr g2 | 3,000
oSsA2 AdHAL 2HbI
3,000,000 *14] 3,000
206 M=l 514,012 465,920 48,092
01 MHZHI 514,012 465,920 48,002
OMZHI 514,012
S EN= N EL
512,512,000 x 14 512,512
cHEE Z, =i 7Y
1,000,000 %14 1,000
ostd oM, Hig 7
500,000 *14] 500
301 EtE NS 187,800 3,000 184,800
11 dALEEIXIZE S 3,000 3,000 0
Ogetga=s 3,000
o=A& 2839l
1,000,000 %14 1,000
o=skl2 NHHSAR2E A
2,000,000& *14] 2,000
14 JIEt2d=3 184,800 0 184,800
OJIet2 a3 184,800
cHUZ Y 248 M
35,0003 #440A1 24+ 122 184,800
401 AIEHIZ SR 0HYI 23,000 23,000
01 AlZ8| 23,000 23,000
OAlZHl & 20l 23,000
o=XZ HIAIM ZAt
23,000,000& » 14 23,000
405 KHaHF S| 138,700 16,200 122,500
01 ML ESFSHI 138,700 16,200 122,500
Ottt & 2SFSH| 138,700
oMY 2SIIA(HR01EA 2 15)
7,900,000 1CH 7,900
o JISE =R NSNS A
1,250,000 *2CH 2,500
odzad & =)
930,000 *2CH 1,860
oA ML REE
3,020,000 «1CH 3,020




2= SR A - ZZ2H0H
Hu: Lol =X I
Rl ZISXIAIE 2l (SH9 H2)
4224 - HE - B9I(EH) - AIRAY - B of v e HIDE2
oAJINIF | 20,620,000 »1CH 20,620
oB2UHAITH(ABIDINEN S)
4,620,000 1CH 4,620
coBUY SHHLI(WEH)
97,580,000 »1CH 97,580
ov(2<Mele) 600,000 »1CH 600
SR-osgsA 29 660,128 609,817 50,311
101 @124H| 84,008 79,861 4,147
MU IIRIMZZENSES 84,008 79,861 4,147
Oz=cl&, JIAHZe 55,564
S 96,800 x2H 230! 44,528
oFF AXtrE 96,8003 x2& *57 11,036
OAlIZtel =& 18, 1503 x2& x160A 2+ 5,808
Ogldz+g(x2ld)
2,300, 00021 %92 20,700
OsiEt MERY ol
96,8003 x5 *43] 1,936
201 =3 197,120 286,356 N\89,236
01 At2t2lt] 128,116 219,752 A91,636
Oggt=3H| 50,480
ogyd E3F & EA 7Y
4,000,00024%14! 4,000
oEBES0 U HHLTIA
2,000,000 *14] 2,000
oARESTY 3,000,000& *14] 3,000
oZS2RIME N 1,500,000 *14] 1,500
oA FIEE E =25 UM
500,000 *14] 500
SHEA=E 20,0002 x45+122 960
oI EH =Al2clh|
1,000,000 14| 1,000
o3|@ae ALDE 1,000,0002 %14 1,000
oE A ARS 100,000& * 122 1,200
oHlS, &) AR 100,000& «12& 1,200
oI ARE 100,000 = 12& 1,200
oligd ScXed 22F
200,000 * 122 2,400
oHZAY RS 4,000,000 *14] 4,000
oHZ Y 2 € 2E A2S
200,000 * 122 2,400
SIIAHHE)| L2351 SFUH
1,500,000 *2H 3,000
oSAZ I+ & &I +=d7 A
200,000 x 12 2,400
oS ALALE 2RI 600,000 23] 1,200




AR 2x092 A 20
M Lol =X &
Sl CoI=XIAIE 22 (crop:mel)
A2 .24 ZE . S2(E) - NIRAY - BES ol b e HlmS2
o&)| dE AIBZ
60,0003 «8CH*12& 5,760
S QOLOIAL HE AIEZE
95,0003 #4CH* 123 4,560
oBJIFED| HE AMEZ
60,0002 *10CH*12& 7,200
Ozels9| 77,636
osA0I B (SESR)
60,764,000& 14! 60,764
oA A =2 200,000& =123 2,400
SRl U DE|VRIAAY BR|2AE
350,000 =12 4,200
oMI|otM 2| e =5
156,000« 12& 1,872
o) MUY =2
100,000 »2CH» 123 2,400
oABAH OEEY U +42
200,000& 123 2,400
oSXNSEAAEUM X2
300,000& 123 3,600
2 S=29| 67,004 64,604 2,400
O35 ¥ HA 56,568
oXMIIR3 2,000,000& =123 24,000
ST MANSE
100,000& x12& 1,200
oMot ER3 400,000 122 4,800
o ZRAY JNHAANEE
700,000& =123 8,400
cEAMHRES 150,000 *23] 300
oRHLSAIZEZ 35,000& * 122 420
oM HolATE 2
150,000 * 14 150
o552 HIAM 242
230,000& * 13| *2CH 460
oSXSEAMAH SXNEL
1,700,000 14! 1,700
cAFH FANES 200,000& =123 2,400
oA LEtMY D SE
135,600 12& 1,628
oSXHDIS(SA8) Meldl
375,000& <128 4,500
CHIE Hh 442
233 +70,0002| E4*13] 1,610
ool HIIIZHM 2] 50,0003 *12& 600
o=RZ SATA 1,000,000& *13l 1,000
o=TIB W) HA
800,000& *13] 800




AR =10z SN L ZZE0HOI

M Lol 5 &

ol LoISXIAIE 22| (CH9: &S1)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se

odZAlY SEFHA 800, 000& *23| 1,600
oXtg BE= 1,000,000 *1CH 1,000
OH = 2,000
ottgtg RFH| 2,000,000 14 2,000
OXtgs. det| 3,436
o XASXHEAL == 36,000 *1CH 36
o=t 7R 200,000& +1CH+ 122 2,400
otz 72 1,000,000 *1CH 1,000
OAIE&EH| FXIdI 5,000
o=X& Aldztel |l
5,000,000 14 5,000
03 @At2ZH] 2,000 2,000 0
OAF &8 23] 2,000
oSN H#AI 2G|
2,000,000 14 2,000
206 M= 4l 261,100 232,500 28,600
01 M=l 261,100 232,500 28,600
O E=:] 261,100
odZAlY AlH THEHI
259,600,000 14 259,600
cHEE Z, 320 Y
1,000,000 14! 1,000
o3ttt M, HIE +#
500,000 14! 500
301 LetEEZ 95,400 3,000 92,400
11 HARHIXIE S 3,000 3,000 0
Oger2aag 3,000
o=k& 29 3/9/d|
1,000,000 14 1,000
oSkl NUHRASAHAL 2ted A
2,000,000 14 2,000
14 J|EI2 A3 92,400 0 92,400
Oo=2g=¢ 92,400
ocILZ ) 2H AAME
35,0003 *220A| 2+ 128 92,400
401 Al HIZL 200 20,000 20,000
01 Al&HI 20,000 20,000
OAlI&H| 20,000
oSX& HOAIE SA
20,000,000& 14! 20,000
405 Xt SHI 2,500 8,100 A5,600
01 ML =SFSHI 2,500 8,100 A5,600
OXHEFHZHI 2,500
o XtESE D] 1,250,000 24 2,500




N EE SN AREOfOID
Hm: Lol =X =7
ol LOI=TIAIA 22 (el mg)
AR RA BB B(S) - MBAY - B Ofl by A HnE2
=220/ XIEH 3,360 3,360
201 Yptedy| 3,360 3,360
01 Al222lH] 3,360 3,360
ORIIQWIIB NH AARIRE S
70,0002 #424* 122 3,360
WIH=QIXI 2 AH A 2SI 296,000 296,000
307 212+0| & 296,000 296,000
1 A= XA EE 296,000 296,000
OMII=QI R RMHIA SHXIA
296,000,0002 %17 2 100% 296,000
COIARAIE 29 XV (HEAY) 1,056,959 1,173,209 A 116,250
= 803,289
Al 253,670
307 212+0| & 1,056,959 1,173,209 A 116,250
= 803,289
Al 253,670
10 A= XAISEE A2 X 1,056,959 1,173,209 A 116,250
OO 2T
1,056,959, 0002 * 100% 1,056,959
= 803,289
Al 253,670
I ECTNE 3,300,000 3,000,000 300,000
=2 2,970,000
= 231,000
Al 99,000
301 YBHIAD 3,300,000 3,000,000 300,000
= 2,970,000
= 231,000
Al 99,000
01 ABIZRXAFHS(RDEEML) 3,300,000 3,000,000 300,000
OMHBO! A& 3,300,000, 0002 * 14! 3,300,000
= 2,970,000
= 231,000
Al 99,000
COIZTINE EAK 2Xag XY 2,216,400 1,551,400 665,000
= 443,280
Al 1,773,120
301 YBHIAD 2,216,400 1,551,400 665,000
= 443,280
Al 1,773,120
14 J|EFE AR 2,216,400 1,551,400 665,000
OLQIZSTAIE BAK 2X4+E N
2,216,400,0002*14! 2,216,400
= 443,280




a2 =xpa= SH BRI
HH: Lol =X =3
el ZOSXIAE 2l (CHol: &S1)
2 - IE!
424 B BB - HIRAY - B ol &t e HIDSZ
| Al 1,773,120
LEAE R AHEH 23 456,310 456,310
307 21201 & 256,310 256,310
05 2IZtAE = 256,310 256,310
ON o121 o 2|
256,310,000 * 14 256,310
402 QI”F X201 & 200,000 200,000
03 2IZHRAETAIAHI 200,000 200,000
OAl&E HIZDY 2 Jls22)
200,000,000 *14] 200,000
I SALA S5t 32,000 32,000
201 ZB=EhI 2,000 2,000
03 A= SHI 2,000 2,000
OB N2 DT
2,000,000 *14] 2,000
308 XXM SOIA 30,000 30,000
18 SO 2ASHUEHE 4N AE A 30,000 30,000
OFILYI|2 SAHL Hefdat
30,000,000& »14] 30,000
dEERUSEFENS 29 1,300,476 1,300,476
101 @1A4H| 145,794 145,794
MU IIRIMZZ2NSES 145,794 145,794
OIRHNZ2IH(=eld) Jl==
96,8002 x3H*172& 49,949
OJIZH 22 ELId) =57, diixE
96,8003 x3& 42 12,197
OJIZtHl 22 RH(EeIY) AlZtels=¢
18,1502 x3&*37 Al 2t 2,015
OJIMZZ2IHAEISXIAY JlEs
101,600« 12 =172 17,476
OINUHMZ2Z (AR SRIAL) =57, AR
== 101,600 x1 & =42 4,268
OJIH 22XRHAISISXIAL) Al2telE
19,0602 x 137 Al 2t 705
OIIZHNZ2XH(SLXIZA JI2S
101,600 x 12 %153 15,545
OJIZIMZZ2HEIXIZAY) F57, At
==} 101,600 x 18 »38 3,861
OJIH 22XHECIXIZAL) Alelg
19,0602 x1&*33A[ 2t 629
OIRZNZ2 (2SS AN Jl=s
101,600 x 12 %1532 15,545
OINLM2ZIH(ASAL) F57, dAX=EE22
101,600 x1&»382 3,861
OJIZHM 22 RH2FS A AlZEelE
19,0602 x1&*33A[ 2t 629




T EE SH AR ENRID
M Lo 50 s
Rl ZISXIAIE 2l (CHol: &S1)
4224 B G9(SH) - AIRAY - BES of v e HIDE2
OJIRMZZ2 XA 2e]) JI22
96,8003 x12H*134 12,972
OJIZHM 22X O1H=E]) =57, A
96,8003 x1& »33&! 3,19
OJIZHHl 22XO1AH2e) Alelsg
18, 1502 1 *20A[ 2+ 527
O3t =& 12y
96,8003 x5 +5 2,420
201 er2 3| 247,056 247,056
01 AtR2t2|HI 153,016 153,016
Ost&dd 83 & 83X 78
5,360,000 * 14 5,360
OS82 &% & i M=
2,010,000 *14] 2,010
OAREE g 3,350,000 *14] 3,350
OZE 2= N& 1,340,0002 %14 1,340
O AABH U 225 oI
500,000 *14] 500
Otz 7152 20,0002 65+6E 720
Oy Edl FAl2ell
1,500,000 14! 1,500
Ozld&e| 225 2,000,000 %14 2,000
O Fus 425 100,000 +6E 600
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15,000,000& * 14 15,000
oZLH MOEH LAl
9,000,000 +61 54,000
ogE)| & HMA
600,000& 67| +23] 7,200
o&85Is2(25) Hieta g 2 HHISA
30,000,000& »14] 30,000




A= =xoe=
XXH: L_O]| EIl gI‘_l

;F?_—ii gﬂ/x?’é%% (SH9 H2)
AR .2 - HH . t:}.<,>_|(§|)1|) c NIEAIY - HA S Of| AFOH SEE Hnz=2
o&EGIS2(28) RIIE FAZZ FHIS
At 30,000,000 * 14! 30,000
402 QI2ERHE0IE 83,471 77,768 5,703
01 QIZFXHE AL B (K THE ) 83,471 77,768 5,703
Ot E =8 S+YH RIIEX
83,471,000& *100% 83,471
ZAAIE &S A 200,000 200,000 0
401 AIEHIZL 28I 200,000 200,000
01 AIEHI 200,000 200,000
OFEZE ZFAMAIE SHEAS
200,000,000 14! 200,000
Zofel =X s 41,263,937 40,596,523 667,414
= 23,018,204
& 3,220,545
Al 15,025,188
ZOHC! At E =Y 575,761 335,719 240,042
= 122,471
T 74,904
Al 378,386
ZOHe! SHALKIR 104,000 66,000 38,000
307 212t01& 104,000 66,000 38,000
11 AL S XA E X 104,000 66,000 38,000
OZHI=X SEALY
14,000,0002 *100% 14,000
OFHL! 23S HAIXR
60,000,000 *100% 60,000
OLAEEXNXE LEHMR =X &
o2l == 30,000,000& *100% 30,000
ZOHQIEHH XIEALE 2Z 80,000 80,000
307 212t01 & 80,000 80,000
03 RIRIHEAXHE2HEHIE XL 80,000 80,000
OO 22Hl X
80,000, 000& *100% 80,000
HE&Oe s X& 22,587 21,199 1,388
= 15,811
s 1,355
Al 5,421
307 212t01 & 22,587 21,19 1,388
= 15,811
T 1,355
Al 5,421
11 ARSI S XA E X 22,587 21,199 1,388
OWEEM WX
22,587,000 *100% 22,587
= 15,811




A= =xoe= SN B2ERID

= Zojel =X s

;F?_—ii SO ARl Z O &HTH EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

& 1,355
Al 5,421
ol HMWRAIL(0tE)2Y K& 80,134 80,300 A 166
& 40,067
Al 40,067
307 QI2Hol ™ 80,134 80,300 A 166
= 40,067
Al 40,067
M ARRI=SXAIEE X 80,134 80,300 A 166
OZojel orsr 24 80, 134,000 *100% 80,134
& 40,067
Al 40,067
THSIAL 24 18,000 20,000 22,000
& 5,400
Al 12,600
307 QI2Hol M 18,000 20,000 22,000
& 5,400
Al 12,600
1 ARRI=SXNAIEE X 18,000 20,000 22,000
O==0SIA 24 18,000,000 *100% 18,000
& 5,400
Al 12,600
ZoHel IHWF 20,000 20,000
307 QI2HO| M 20,000 20,000
1 AMSI=SXAIEEE 20,000 20,000
OZoHel el W= L I
20,000, 0002 *100% 20,000
ZfeI=R s 2Hads N2 10,620 10,620
201 Ler2 | 10,620 10,620
01 At 2telt] 10,620 10,620
OHUMA=XAIE =& &F AR
70,0003 7 H*33] 1,470
OLZEM MBII2 XS MARIES
70,000 x5 H*33] 1,050
OEeI=XR =
70,0002 +10ZF*13] 700
OXOHeILdRte] At 2R3
70,0003 *5H 43 1,400
OFHESXE L LEHM =222
A3 100,000& x5H 123 6,000
ZOHQ! KIFAS KRR ALY 213,320 0 213,320
= 106,660
T 21,332
Al 85,328




A= =xoe=

= Zojel =X s

Rl ZOHR! At EOIET EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
307 2Ito1d 213,320 0 213,320
= 106,660
& 21,332
Al 85,328
PNEEPANE=ES 213,320 0 213,320
OZ0NQ! XIFALE XHXIE At
213,320,000 *100% 213,320
= 106,660
< 21,332
Al 85,328
ZOHRIS X XIJAIY 2223l 13,600 25,600 12,000
201 er23| 8,000 8,000 0
02 S5=2g4l 8,000 8,000 0
OZUSES S8 g &&H| X
8,000,000& *14] 8,000
202 Ot 5,600 5,600
01 =LH0d 5,600 5,600
OXHI=EX SR =X
20,0008 x4 +708] 5,600
ORI A JIsE2Z 13,500 0 13,500
[ 6,750
Al 6,750
402 QI2FXH=0I A 13,500 0 13,500
< 6,750
Al 6,750
02 QI A2 AL E R (0IHTHEA) 13,500 0 13,500
OZOHRISHH JIs22
13,500,000 *100% 13,500
< 6,750
Al 6,750
ZOHQ! MeEord X 8,836,035 8,671,292 164,743
= 6,093,804
< 1,039,450
Al 1,702,781
FoHel=s =0 6,790,082 6,677,239 112,843
= 4,753,058
< 611,107
Al 1,425,917
301 LEENEZ 6,790,082 6,677,239 112,843
= 4,753,058
< 611,107
Al 1,425,917
01 A2 HSFS(RNEERTHE) 6,790,082 6,677,239 112,843




D EAgEA= A B2Z0HQ 0
D el =X sA

CHel: ZOHQ! MEOrE X (SH &)
AR .2 - HH . t:}.<,>_|(§|)1|) c NIEAIY - HA S Of| AFOH SEE Hnz=2
=7 TR e = N =7 - Off &bod ==
SEIEEEER
6,790,082,000& 14! 6,790,082
= 4,753,058
T 611,107
Al 1,425,917
U E= (@I ESSINE=; 1,280,930 1,271,163 9,767
= 896,651
& 268,995
Al 115,284
301 LEI2E S 1,280,930 1,271,163 9,767
= 896,651
& 268,995
Al 115,284
01 ASIEEHSGIZ2(2REXZTHRA) 1,280,930 1,271,163 9,767
OBON+YOIZ) X2
1,280,930,000& * 14! 1,280,930
= 896,651
= 208,995
Al 115,284
(a2 S) Xz 634,421 639,028 24,607
= 444,095
= 133,228
Al 57,098
301 LEBEF 634,421 639,028 A4,607
= 444,095
& 133,228
Al 57,098
01 MBI EEHGI2(FREZTHA) 634,421 639,028 24,607
OF =2 (xtat? ) X3
634,421,0002 * 14! 634,421
= 444,095
T 133,228
Al 57,098
Zofel =4 XA 58,240 58,240 0
= 11,648
Al 46,592
307 2Iz2+0l™ 58,240 58,240 0
T 11,648
Al 46,592
1 ASI=SXAIEEE 58,240 58,240 0
O=sZ0 RE=4 K&
58,240,000 x100% 58,240
= 11,648
Al 46,592




A= SXeR= A 0 204
M HOHR X S
Celr ZOoHe! MEotE X (St &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
ZojeldlE A== XA 12,000 0 12,000
& 2,400
Al 9,600
201 L2 | 12,000 0 12,000
& 2,400
Al 9,600
01 At 22|l 12,000 0 12,000
o2 =8 X
12,000,000 14| 12,000
= 2,400
Al 9,600
ZOHQIXtSF SHOIIHA S| AX| XI& 2,762 4,022 21,260
& 552
Al 2,210
301 LetEEZ 2,762 4,022 21,260
& 552
Al 2,210
02 AR EZAGIZ(HAAS, RLTHR) 2,762 4,022 21,260
OZOHRI Xt GHolTHA 2D &AX K&
2,762,000 14 2,762
= 552
Al 2,210
SEZQ XA 57,600 21,600 36,000
& 11,520
Al 46,080
301 LetEEZ 57,600 21,600 36,000
& 11,520
Al 46,080
02 AIBIEZAGIZ(HAAS, RLTHR) 57,600 21,600 36,000
OSSEe! THatE AL
57,600,000 14| 57,600
= 11,520
Al 46,080
Zoiel e 2= & 221,079 235,680 214,601
= 164,519
= 29,792
Al 26,768
ZoHelel=Hl KI& 184,800 198,000 A 13,200
= 147,840
& 25,872
Al 11,088
308 AXIHMSO0I& 184,800 198,000 13,200
= 147,840
& 25,872




D EAgEA= A B2Z0HQ 0
D el =X sA

© HoHe 2= BA EER=E)
294 BB O2(B) - HBAY - BAS 0l Aoy e HIDS2
Al 11,083
13 SI| 2SI CHeZ A X EAIS I 184,800 198,000 213,200
O&ojelelzHl X
184,800,000 * 14 184,800
= 147,840
& 25,872
Al 11,083
Zofel X017 K& 12,79 13,200 A401
= 10,239
& 512
Al 2,048
301 LEtENZ 12,79 13,200 401
= 10,239
== 512
Al 2,048
01 AISIBE XS (2 REXTE) 12,79 13,200 401
OZFOHe!l ExD17| X
12,799,000 & * 14! 12,79
= 10,239
== 512
Al 2,048
HEWE&E7 28l R 1,000 1,500 A500
& 200
Al 800
307 CIZ2tOI A 1,000 1,500 2500
T 200
Al 800
01 2z ¥ 3=sH| 1,000 1,500 A500
OtlIZ20E& 7 24l K&
1,000,000 * 1A 1,000
= 200
Al 800
HASHOR! XEH| L HAHHl XI& 4,480 4,480 0
= 2,240
= 448
Al 1,792
307 QIZ2t0I A 4,480 4,480 0
= 2,240
T 448
Al 1,792
01 23 & 3=H| 4,480 4,480 0
ONASEOC! REH| L HAE] XI&
4,480,000& x 14! 4,480
= 2,240




D EAgEA= A B2Z0HQ 0
D el =X sA

‘;9;2 e ==X & (SH9 H2)
Al = £ o|(5 = dET =
AR RA B O9I(30) - HRAY - BaS ol &t e HDS2
[ 448
Al 1,792
Zojel A2F& X 12,000 12,500 A500
< 2,400
Al 9,600
301 LEIEEZ 12,000 12,500 A500
< 2,400
Al 9,600
02 ARSI 2E A S(FANS, XLETHE) 12,000 12,500 2500
OFfe AZZ& X2
12,000,000 » 14 12,000
= 2,400
Al 9,600
g e satglE XA 6,000 6,000 0
= 4,200
< 360
Al 1,440
301 LEIE NS 6,000 6,000 0
= 4,200
< 360
Al 1,440
01 Al 2E AT S(SREXME) 6,000 6,000 0
O &l EaHIE X2
6,000,000& *14] 6,000
= 4,200
< 360
Al 1,440
LS EONQIRIE AL 3,944,080 3,305,280 638,800
= 2,696,257
< 247,565
Al 1,000,258
LETHE M A 1,135,318 1,029,919 105,399
= 794,722
< 68,120
Al 272,476
308 AHAIEMSOIE 1,135,318 1,029,919 105,399
= 794,722
< 68,120
Al 272,476
18 SIS0t A AS A 1,135,318 1,029,919 105,399
OgL Ml A 1,135,318,000& 14! 1,135,318
= 794,722
< 68,120




e HEE

D el =X sA

CHelr ORI KR ALY

AESE VTR

SHRA(ZA) - HEAMNS - BES

Ofl &F2H

MEE
Ofl &k2h

272,476

FUHESAHIA BIRM X

Mo

=

1,490,723
1,043,508
89,443
357,772

1,445,000

45,723

308 XXIHMSOIA

o

=

—_

,490,723
,043,508
89,443
357,772

—

1,445,000

45,723

1,490,723,000& 14!

o

=

1,490,723

1,490,723
1,043,508
89,443
357,772

1,445,000

45,723

LUSESAHHIA BIRMAA

o

=

854,133
597,893

51,248
204,992

390,482

463,651

0

308 AkXI &

>

JIS0IH

[

hoH

854,133
597,893

51,248
204,992

390,482

463,651

18 SIS0t 34 A A A

A&
854,133,000& *14]

854,133

854,133
597,893

51,248
204,992

390,482

463,651
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>
10

10,000,000 *100%

10,000

10,000

10,000

ph
o4
ol
[UG:
o

>
(en)
©
g

2 OHE 111 XA

hoH

=

288,000
144,000

28,800
115,200

228,823

59,177

307 212t01™

hoH

288,000
144,000

28,800
115,200

228,823

59,177

11 ARIZX A 2=

288,000

228,823

59,177




2: =xpaz SN B2ERID

= Zojel =X s

S LI ORI XIR ALY (EEEE))
AR .2 - HH . t:}.<,>_|(§|)1|) c NIEAIY - HA S Of| AFOH SEE Hnz=2
Oz=Z LTl =2+ HE 1:1 XA
288,000,000 *100% 283,000
= 144,000
= 28,800
Al 115,200
ZESE L =2t O 111 NJA 164,000 199,150 235,150
= 114,800
= 9,840
Al 39,360
307 QI2H0| M 164,000 199,150 A35,150
= 114,800
& 9,840
Al 39,360
1 ASI=SXAIEE X 164,000 199,150 A35,150
Ozl=3 LEael =2t O 1:1 XA
164,000, 0003 *100% 164,000
= 114,800
= 9,840
Al 39,360
LI FR2AE XA 1,906 1,906 0
= 1,334
= 114
Al 458
308 AXIHMSO0I& 1,906 1,906 0
= 1,334
& 114
Al 458
13 BII2SOICHEH B A X LEALIH] 1,906 1,906 0
Ooggde 224y XA
1,906,000 *14] 1,906
= 1,334
& 114
Al 458
ZoHe!l X2l At 2,502,373 2,247,954 254,419
= 1,09, 158
& 379,612
Al 1,026,603
ZOHQI L Tt (ML HI) Ab 1,323,258 1,301,046 22,212
= 661,629
& 132,326
Al 529,303
101 eI H| 1,323,258 1,301,046 22,212
= 661,629
= 132,326




A= =xoe=
Za: Fojel =X S

CHRlr EOHe Xiel At

AR RA BB B(S) - MBAY - B Ofl by A HnE2
Al 529,308
04 JRIHIZERS 24 1,323,258 1,301,046 2,212
O OHILXt2I (MM KIS
1,323,258, 00021 14! 1,323,258
= 661,620
= 132,326
Al 529,308
DRI KE2] (AIREHI) At 285,706 266,071 19,635
= 142,853
= 28,571
Al 114,282
101 Q1244 285,706 266,071 19,635
= 142,853
< 28,571
Al 114,282
VIR EEI=IEPS 285,706 266,071 19,635
O OHI X2l (AIZHH) KR
285,706, 0002 %141 285,706
= 142,853
= 28,571
Al 114,282
I AR2I(SXILRI2]) ALY 295,025 179,653 115,372
= 147,513
= 29,502
Al 118,010
307 21210/ & 295,025 0 295,025
=2 147,513
= 29,502
Al 118,010
11 ABISRIAL R E 295,025 0 295,025
O fQIYXt2l (SR LKt2I ) KIS
295,025, 000!« 100% 295,025
=2 147,513
= 29,502
Al 118,010
BN QI XFRl (Al 2L RHOHQI OFOFAFIFZ ) ALY 56,763 93,124 136,361
=2 45,410
= 2,271
Al 9,082
307 2I12H0| & 56,763 93,124 136,361
= 45,410
= 2,271
Al 9,082
1 AFBIZRIAI R E 56,763 9,124 136,361




D EAgEA= A
D el =X sA

D ZOHR! Xl Ar

(Er2 &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
O OHI K21 (AIZHE 01 OHDIARTFA ) K| &
56,763,000 x100% 56,763
= 45,410
T 2,271
Al 9,082
ZOHQIL T (L E TN LUBSAIEE) ALY 132,644 130,667 1,977
= 66,322
& 13,264
Al 53,058
307 QI2H0| M 132,644 130,667 1,977
= 66,322
& 13,264
Al 53,058
1 ASI=SXAIEE X 132,644 130,667 1,977
OXHeIL Xl (LLHHIQLYESAIEE)
X 132,644,000 *100% 132,644
= 66,322
= 13,264
Al 53,058
el NEIHAZ KA 183,000 180,000 3,000
T 91,500
Al 91,500
307 QI2H0l A 183,000 180,000 3,000
& 91,500
Al 91,500
02 QIRHHAAIHE X 183,000 180,000 3,000
O nEEXZe= N
183,000, 0002 *100% 183,000
= 91,500
Al 91,500
ST 23S LXel K& 144,902 97,393 47,509
T 72,451
Al 72,451
307 QI2HOl A 144,902 97,393 47,509
& 72,451
Al 72,451
" A =XAIEE X 144,902 97,393 47,509
OSSO 23d el XN
144,902, 0002 *100% 144,902
& 72,451
Al 72,451
SSHC SSHE A 81,075 0 81,075
= 32,431
& 9,727




A= =xoe=
Za: Fojel =X S

CHRlr EOHe Xiel At

AT 2A B BR(E) - HRAY - BES 0 & A HimEE]
Al 38,917
307 gI2Hol M 81,075 0 81,075
= 32,431
& 9,727
Al 38,917
1 ASI=XAIEE X 81,075 0 81,075
OSTTU STHEHAMZ
81,075,000& *100% 81,075
= 32,431
& 9,727
Al 38,917
ZoHel HosAl 45,500 45,940 2440
& 3,600
Al 41,900
ZOoHQ! X=X EX7Y 2,000 3,000 A1,000
201 L2 | 2,000 3,000 A1,000
01 AtR2eltl 2,000 3,000 A1,000
OZOoe! XSkt HEXI 7L
2,000,000& *100% 2,000
ZOHQ =X+ L HYAIE HEAS 31,500 28,940 2,560
201 Let2| 16,500 16,440 60
01 Ar2eltl 6,000 0 6,000
OHMHUANMESFIS 22 AAE R 2+
500,000& 12 6,000
02 3244l 10,500 16,440 25,940
OZHIES=X7S 2B WEHES LTS
] 2,500 35021+ 12& 10,500
401 AIEHIZL 28I 15,000 12,500 2,500
01 Al&HI 15,000 12,500 2,500
OZ3AI4E2 Z0Hel HOAE &X & |
2| B 15,000,000 14! 15,000
A2 R20IZHAIE 24 A 12,000 14,000 22,000
& 3,600
Al 8,400
401 A& B2 20| 12,000 0 12,000
& 3,600
Al 8,400
01 AlEHI 12,000 0 12,000
OLRIZLIZIAIE 24 HEAMS
12,000,000 & * 14! 12,000
= 3,600
Al 8,400
Zofel s 12,077,690 12,290,712 A213,022
= 7,821,258




2 =xe= SN BRI

= Zojel =X s

=l Hojel 2sX (SH &)
A= - BA - 3H - SA(SAH) - NIRAY - BES Off &4 OE:IE'% BlunsZ
< 790,587
Al 3,465,845
ZOHIESKIE At 11,057,500 11,408,086 350,586
= 7,740,250
== 663,450
Al 2,653,800
308 AHXIHMSO0IA 11,057,500 11,408,086 A350,586
= 7,740,250
=S 663,450
Al 2,653,800
183 SIS0t 4R ASAIE] 11,067,500 11,408,086 350,586
OZHI2SAIH
11,057,500,000& *14] 11,067,500
= 7,740,250
= 663,450
Al 2,653,800
O &SKIA Jhete=E 115,725 103,626 12,099
= 81,008
= 6,944
Al 27,773
308 AXIHMSOIA 115,725 103,626 12,099
= 81,008
= 6,944
Al 27,773
18 S 2SS & AEAIE 115,725 103,626 12,099
OF NS KIR Jtoteg
115,725,000 x 14! 115,725
= 81,008
= 6,944
Al 27,773
O ESX FIHAL(EEX) 600,965 475,000 125,965
=S 120,193
Al 480,772
308 AXIHMSO0IA 600,965 475,000 125,965
< 120,193
Al 480,772
183 SV 2SS & AET AL 600,965 475,000 125,965
OZMHAISSKH FIHANA(EEE)
600,965,000 x 14! 600,965
= 120,193
Al 480,772
HoHel SSXE FIHA (XA 303,500 304,000 A500
201 er=23y| 3,500 4,000 A500
01 AtR2t2|HI 3,500 4,000 A500




Az =xee SN PZEROID
M HOHR X S
Chel: ZoHe! 2SAIA (SH &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
Ofg =2 3,500,000 14 3,500
308 REXIHMSOIH 300,000 300,000
13 SI1 2SO & XA 300,000 300,000
Qe =X =0 K&
300,000,000 14 300,000
ZOHI=XAIE 24 K& 12,982,338 12,709,722 272,616
= 5,006,937
& 621,158
Al 7,354,243
ZOHI=X2 22 1,745,216 1,690,000 55,216
307 gI2tol ™ 1,745,216 1,690,000 55,216
10 Al SXAEHE2EHIEX 1,585,216 1,530,000 55,216
OXeI=sX2 2gXA 1,585,216
ocHI=N2 2
1,516,000, 000& *100% 1,516,000
oZHRISXI2t RAUAY S4 K&
69,216,0002! *100% 69,216
1 ARRI=EXNAIEE X 160,000 160,000 0
O R HEHA 23 XN
60,000,000 *100% 60,000
OZoHel =X2 Atgdl X2
100,000,000 *100% 100,000
ZOHAUANFAIE 2 K& 6,278,643 6,114,764 163,879
= 4,395,050
T 376,719
Al 1,506,874
307 QI2HOl A 6,278,643 6,114,764 163,879
= 4,395,050
= 376,719
Al 1,506,874
10 AlRIZXAIEHE2FHIE X 6,278,643 6,114,764 163,879
OZOR HFAIE 2SS XA (M)
6,278,643,000& *100% 6,278,643
= 4,395,050
= 376,719
Al 1,506,874
ZOHRIH=AIE MEoI™E K& 77,6838 77,688 0
& 15,538
Al 62,150
307 QI2H0l A 77,688 77,688 0
& 15,538
Al 62,150
10 Al SXAEHE2EHIEX 77,688 77,688 0




D EAgEA= A B2Z0HQ 0
D el =X sA
D AMIEXIAIE 28 XA

4 =4 (Erel: a2
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T < B Ofl &k o se
OZOR A=Al &dEolE X
77,683,000& x100% 77,6838
& 15,538
Al 62,150
ZoHe!l HATHEANLE 29 670,000 852,349 A182,349
307 gIzHol 670,000 852,349 A182,349
10 AlZISXAEHE2EHIEX 670,000 852,349 A182,349
Q& HATHEAIE 2 XA (2IM2)
670,000, 000& *100% 670,000
Ol SHOIAFAIE 28 N 204,352 214,352 210,000
307 QI2H0l A 204,352 214,352 210,000
10 Al S XAIEHE 22X 204,352 214,352 A 10,000
QORI EDIHFAIE 2
204,352,000 x100% 204,352
el SSHEIIE 29 568,583 552,023 16,560
307 gI2Hol ™ 568,583 552,023 16,560
10 AlZISXAEHE2EHIEX 568,583 552,023 16,560
OXHISSMEIE 29 XIJA(7THLA)
568,583,000& *100% 568,583
ZOHQl SSMEIE Mo K& 15,105 0 15,105
& 3,021
Al 12,084
307 QI2Hol A 15,105 0 15,105
& 3,021
Al 12,084
10 AlSISEXAEHE2EHIEX 15,105 0 15,105
OFoje SS4eIHE thMels X
15,105,000 *100% 15,105
& 3,021
Al 12,084
HelEd AlDAIE X 4,200 4,200 0
& 840
Al 3,360
307 QI2H0| A 4,200 4,200 0
& 840
Al 3,360
10 Al SXAEHE2EHIEX 4,200 4,200 0
Oeld MOAd 29 K&
4,200,000 *100% 4,200
= 840
Al 3,360
R F2UHESAIE 2Y 850, 163 806,888 43,275
307 2I2+0l ™ 850, 163 806,888 43,275
10 Al ZXAIEHE 2FHIE X 850, 163 806,883 43,275




L =102
Ha: ZOHO! =X S
o9l RHQ=TIAIL 29 N

AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HIRE2
O FALEAE 2 KA (DHL)
850, 163, 0002+ 100% 850, 163
M20IS NAME 29 369,239 377,650 £8,411
307 212H01 369,239 377,650 £8,411
N EE N EEEETIEES 369,239 377,650 £8,411
OMZOISHAME 2% X2
369,239,000+ 100% 369,239
LOISHME 2Y 33,600 8,818 7,782
307 212H01 33,600 8,818 7,78
e NEEEEETIEES 3,600 38,818 7,782
O+0{SAME 2 X2
336,600, 0002+ 100% 3,600
TOHRI=XIAIE BAR =X4g X2 420,000 420,000 0
= 84,000
Al 36,000
301 YrEEI 420,000 420,000 0
= 84,000
Al 33,000
14 J|EL2 A2 420,000 420,000 0
OFNAZKIAIL BAX 2N+ X2
420,000,000+ 14! 420,000
= 84,000
Al 336,000
AI2tZ0HO! KR KIRMIE 2 45,000 42,935 2,065
= 9,000
Al 36,000
307 212H01 45,000 42,935 2,065
= 9,000
Al 3,000
e EEEETIEES 45,000 42,93 2,065
OAIZIZOHR! RISXIRHE X
45,000, 0002 ¥100% 45,000
= 9,000
Al 36,000
ZOHRIDIE XRME 2 142,017 127,637 14,380
307 212H01 142,017 127,637 14,380
10 AlSIZXA S Z 2G2S 142,017 127,637 14,380
OFANSNRHE 2
142,017, 00024 100% 142,017
ZOHO! ZEATA 2 X2 103,952 100,891 3,061
= 20,790
Al 83, 162
307 212H01 103,952 100,891 3,061
= 20,790




D EAgEA= A B2Z0HQ 0
D el =X sA
D ZI=XAIE 23 X

AR RA BB B(S) - MBAY - B Ofl by A HnE2
Al 83, 162
e CEEEETIEES 103,952 100,891 3,061
OFj Seraga 29
108,952, 0002 ¥100% 103,952
= 20,790
Al 83, 162
Dol MOISZIISNAME SN 160,463 02,449 58,014
= 2,09
Al 128,370
307 Q12H0| A 160,463 02,449 58,014
= 2,09
Al 128,370
e N EEEETIEES 160,463 0,449 58,014
OF0fQl BOASTIISTAME 2Y X2
160,463, 0002 ¥100% 160,463
= 2,003
Al 108,370
SETOHARIZMBHE X2 168,467 164,267 4,200
2 67,387
= 20,216
Al 80,864
307 Q12H0IH 168,467 164,267 4,200
2 67,387
= 20,216
Al 80,864
W N EEEETIEES 168,467 164,267 4,200
OFOHOIRIZI M EHIE X2
168,467, 0002 ¥100% 168,467
2 67,387
= 20,216
Al 80,864
SSZNARDMBHEH 2Y XL 19,205 18,000 1,205
= 3,841
Al 15,364
307 Q12H0I A 19,205 18,000 1,205
= 3,841
Al 15,364
N EE N CEEEETIEES 19,205 18,000 1,20
OFHATIYHBHE 2 I
19,205, 00021 +100% 19,205
= 3,841
Al 15,364
ZZINUNYMBHEY T2 S 11,000 11,000 0
= 2,200




D EAgEA= A B2Z0HQ 0
D el =X sA
D ZI=XAIE 23 X

(Erel: a2
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
Al 8,800
307 gI2Hol M 11,000 11,000 0
= 2,200
Al 8,800
11 Al =XAMEES 11,000 11,000 0
QTN XN SMEX M T2 2 X
& 11,000,000 *100% 11,000
T 2,200
Al 8,800
MAS O (ZOHCIHFAIE =2 7X) 605,000 550,000 55,000
= 544,500
T 42,350
Al 18,150
301 LetENEZ 605,000 550,000 55,000
= 544,500
= 42,350
Al 18,150
01 A 2&HSE 2 (FREETR) 605,000 550,000 55,000
OZMHUANFAIE ==X HAHSA
605,000,000 » 14! 605,000
= 544,500
& 42,350
Al 18,150
ZOHC!l AFRIZXID|2 SAL MM 30,000 28,800 1,200
& 6,000
Al 24,000
307 QI2H0l A 30,000 28,800 1,200
& 6,000
Al 24,000
10 Al SXAEHE2EHIEX 30,000 28,800 1,200
OHOA=XI2 SALA LM =
30,000, 0002 *100% 30,000
= 6,000
Al 24,000
PNESE LI pNI= DN RIS 132,745 121,411 11,334
307 QI2H0| M 132,745 121,411 11,334
10 Al ZXAIEHE 2FHIE X 132,745 121,411 11,334
OXNHZHA XX AEH 2
132,745,000 *100% 132,745
ool =EXAIE 23| 15,600 3,600 12,000
202 o4t 3,600 3,600 0
01 =WHO4 LI 3,600 3,600 0
OHOUMA=XAIE 22lAtE 2S Kbl
20,000 *3H*602] 3,600




A= =xoe=
Zal: Fojel =X S

Rl ZUI=SXIAE 28 X

|

AR RA BB B(S) - MBAY - B Ofl by A HnE2
401 AIEHIZ 2B 12,000 12,000
01 A&t 12,000 12,000
OAEES MEIZA 2% (30H24)
2,000, 000223 x37H 2 12,000
DO HEAIL E14 U StT) Tah Hoje! UNEE2 9,100 0 9,100
= 4,550
Al 4,550
307 Q12H0|H 9,100 0 9,100
= 4,550
Al 4,550
I EE R FES 9,100 0 9,100
OFONQINZAIL &4 2 sty T/sh Zofel
LR 9,100,000 ¥100% 9,100
= 4,550
Al 4,550
ZOHQU=XAL JIs2EY 79,081 754,224 675,143
2 16,800
= 33,877
Al 28,404
DO HEAIL ZIIHED| dex 2,599 3,044 A445
2 1,559
= 208
Al 83
307 0I2¢0] & 2,599 3,044 445
2 1,559
= 208
Al 83
02 DIRIBA AR BT 2,599 3,044 445
OFORINFAIL BIIHEI| B
2,599,000 ¥100% 2,599
2 1,559
= 208
Al 83
ROHQl HATHEAIL JIS2Y 30,482 0 30,482
2 15,241
= 10,669
Al 4,572
402 RIIRHR0IH 30,482 0 30,482
= 15,241
= 10,669
Al 4,572
02 RIIXFE AL & (OIETHE ) 30,482 0 30,482
OFMHOAIRLTHEAIL IS
30,482, 00024 *100% 30,482




A= =xoe=

= Zojel =X s

;F?_—ii ZUL=XAE JISEH EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

= 15,241
= 10,669
Al 4,572
KNEHOITE XY JIsES 46,000 0 46,000
T 23,000
Al 23,000
402 QI2EXH=01 N 46,000 0 46,000
& 23,000
Al 23,000
02 QIR AL B (01 & THEA) 46,000 0 46,000
OXEHZOHI NS X JAHEH JIsEZ
46,000, 000& *100% 46,000
& 23,000
Al 23,000
AHHE2I AU (ZZF0H D) 59,700 49,8% 9,804
Jl=Zhl 59,700 49,8% 9,804
JlE2Zl 59,700 49,8% 9,804
201 L2 | 46,080 37,656 8,424
01 Ar2eltl 46,080 37,656 8,424
Oget=2H| 16,920
VB A=EE 20,0003 +3&+ 128 720
o AREST2H 700,000 * 123 8,400
o M-I 200,000& *43| 800
oS E0IME ME 2,000,000 14 2,000
= J|Et =24 5,000,000& 14 5,000
Ogaltl 29,160
ol|2YRE galdl
9,000 +27Z 102123 29,160
202 Ot 6,000 6,000
01 =L 6,000 6,000
OJ|2gR=& 4l 6,000,000 14 6,000
203 R =& 6,120 6,240 A120
M FA2LHRFAH 6,120 6,240 A120
ORNSIHRFA 510,000& =123 6,120
405 KHHE SH| 1,500 1,500
01 AR ESF S| 1,500 1,500
OAMR4 31918 oIkt 100,000 154 1,500




H & 0l & AHS B Ml A

D EAgEA= A OlSESH

ST
Olse &td & delsd (SH9 H2)
224 3. B(3H) - ASAY - BAS 0 &y e HIRS2
OtsE=1t 103,196,458 104,454,324 1,257,866
= 36,926,240
g 2,055,550
J| 87,758
CH 340,000
= 36,501,948
Al 27,284,962
HE OtsES 45,866,613 45,677,651 188,962
= 8,256,601
= 1,683,883
J| 87,758
= 18,648,643
Al 17,189,723
SO otd L AH2|B&A 34,890, 157 35,345,106 454,949
= 7,063,047
= 16,000
& 17,304,112
Al 10,506,998
Ol=2l oM & ZEISEAIY SHAY| 315,280 30,280 285,000
201 Let2AH| 10,000 25,000 A 15,000
01 At22teld| 10,000 25,000 15,000
O0tsdel us 22 & 222 ¥ S
10,000,000 * 14 10,000
202 04t 3,600 3,600
01 ZLHOHI 3,600 3,600
O0tsE M JRF& (|
20,000& x4H x453| 3,600
203 SR =&IH| 1,680 1,680
03 AIBFAAHR=EIH| 1,680 1,680
O0tsE= AIME=X 1,680,000 * 14! 1,680
207 AR 300,000 0 300,000
02 MADHEHI 300,000 0 300,000
O0ls =28 SE3ENE EHE 25 (1S)
260,000,000 * 14 260,000
O0l=s == SEAEEHS EHE 2=
40,000,000& * 14! 40,000
OlssiAl & OtsEs KNI 101,550 93,070 8,480
201 LEt2AH| 98,550 10,070 88,480
01 At22teld| 13,350 9,870 3,480
OgdBt+ZH| 1,400
olIEN=84HEH 3522
1,400,000 * 1A 1,400
o2g+Y 8,470




D EAgEA= A OlSESH

L FHoE olsEs
©Olse ot & HelsaA (SH9 H2)
LA B - S9(E) - AISAY - BES of v e HIDE2

oOtsS=XaIEal (A2 RIS &
o ag 70,0002 7%+ 103! 4,900
SOISTAIFIRE B4 &g
70,0008 7 H =33 1,470
oUglESsE2d slo A ¢
70,0002 * 10232 2,100
OgAr Xt& X222l
15,0002 *BAl 2Hx29H 3,480
02 S3=gHl 200 200 0
(@F= = pegestal 200
ogANZ UENSSHE 352
200,000& *14] 200
03 A= &I 85,000 0 85,000
O0ielole &AL 85,000,000 * 14| 85,000
301 EtE N = 3,000 3,000
11 #AIAMHIXIE S 3,000 3,000
OO0liglole A IO 2
1,200,0002 %14 1,200
OXSotsHE A3E & Ual FILL 24
1,800,000 *14] 1,800
240t 24 XE 1,237,500 1,237,500 0
307 glztol & 1,237,500 1,237,500
11 AMEISXAEEES 1,237,500 1,237,500
OZ40ts 24 Ad
9,000 5502 2502 *100% 1,237,500
orsa4 XN 1,118,293 1,066,240 52,053
s 223,658
Al 894,635
307 @I2t01 & 1,118,293 1,066,240 52,053
< 223,658
Al 894,635
11 AMEISXAEEES 1,118,293 1,066,240 52,053
Oogs = otssa N
1,118,293,000& *100% 1,118,293
= 223,658
Al 894,635
NASE MH sDIE -S54 548 X 911,525 846,450 65,075
=S 911,625
307 lztol & 911,525 846,450 65,075
= 911,525
11 ARRIS XA E X 911,525 846,450 65,075
o=l € &35 =4Hl X2
9,500 *1,010F ~95&! 911,525
< 911,525
ors=¢ 203 8,828,809 9,603,666 NT74,857




e EE

A OlSESH

3 FHASE OIsE=
el Ofsel ot & A s (SH9 H2)
AR RA BB B(S) - MBAY - B Ofl by A HmS2
= 7,063,047
= 529,729
Al 1,236,033
301 LEtEX S 8,828,809 9,603,666 NT74,857
= 7,063,047
= 529,729
Al 1,236,033
01 AlRI2ZH 63 (RNEERTE) 8,828,809 9,603,666 NTT4,857
Ooots=¢ 20 8,828,809,000& *14] 8,828,809
= 7,063,047
= 529,729
Al 1,236,033
FoPlz+g X 22,340,000 22,430,000 90,000
= 15,638,000
Al 6,702,000
301 LEEX S 22,340,000 22,430,000 A90,000
=S 15,638,000
Al 6,702,000
02 ABI2E RS (FAAS, NLHA) 22,340,000 22,430,000 90,000
osoi2+<g =
22,340,000,0002 * 14! 22,340,000
< 15,638,000
Al 6,702,000
Orssitl oIy & THS 17,200 17,900 AT00
201 LeHE 3| 11,200 11,200 0
01 Al2tefsl 3,000 3,000 0
Oorssitoe us ZAE & 822 M
3,000,000 14 3,000
R =23l 8,200 8,200 0
Oootssilh Ste=
50,0002 +6CH* 12 3,600
Oo0tssitl s 8Uis &=l 4,600
o KSIHAl 100,000 * 14| 100
oHE= 1,500,000 14} 1,500
oxtgRX2ell 3,000,000 14 3,000
202 0| 6,000 6,000
01 2oL 6,000 6,000
O0ts2s I2F2 Ol
20,0002 x5 602 6,000
OISESdERE 28 20,000 20,000 0
[ 16,000
< 1,200
Al 2,800
201 Le+2 3| 3,100 4,500 21,400




N G
HMIH: =[OFH =

oS
L OlEol OE o

& loh

clsa

=

A OlSESH

AESE VTR

SHRA(ZA) - HEAMNS - BES

Ofl &F2H

MEE
Ofl &k2h

SAREY

2,480
186
434

01 AHR 22
o212

1 Ao
= o0R =
Ho
M
pa
i
4>
o

0
to

=J|E2

02
==

350,000 *62]

1,000,000& 14

=

SARNEY

=

3,100
3,100

2,100
1,680
126
2%
1,000
800

140

4,500

21,400

202 04|

SARNEY

=

5,000
4,000
300
700

4,000

1,000

01 =LH04H

Oots 2F 0d

}0||

5,000,000 * 14!

Mo

=

5,000

5,000
4,000
300
700

4,000

1,000

SAREY

11,900
9,520
714
1,666

11,500

400

01 Al EEHSFS (B REXM
OAHIA 23]

ooz H|

oMHIA SAH & MSHI

=J|Et XIZH]

200,000& *122]

300,000& *10=!

650,000& *10=2!

SARNEY

=

=

SARNEY

11,900
11,900
2,400
1,920
144
336

3,000
2,400
180
420
6,500
5,200
390
910

11,500

400

Ols=XAE 28 &

8,605,959

7,599,309

1,006,650




e EE

D FHYAE OlEES

A OlSESH

?: Ols=EXAIE 298 K& (SH9 H2)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HimE==T
= 232,680
z 1,545,064
< 1,212,714
Al 5,615,501
OlSAld 23 2,062,080 2,001,450 60,630
307 2I2t01 2,062,080 1,994,450 67,630
10 AlBISTIAIEEE2EHIEX 2,062,080 1,994,450 67,630
O0ISAIE 23 2,062,080, 0002 *100% 2,062,080
OlSEXIAE 2¢ 42,600 40,600 2,000
201 fer= 3| 6,600 6,600 0
01 AtR2t2l] 6,600 6,600 0
O3gd NY0tsdH Xz N
550,000 *1JH A * 1204 & 6,600
307 2Ito1d 36,000 34,000 2,000
0122 & 3= 10,000 10,000 0
OXIZ0tSHIE Ols F2ALSE
10,000,000 » 14 10,000
11 AR SXIAIEE 26,000 24,000 2,000
OXl<otsHE 88 T2 X
16,000, 0002 *100% 16,000
OOIS=RXIAIE SAR Hek 23tk
10,000,000 *100% 10,000
ASISRHE K (HEAY) 778,943 626,204 162,739
301 LEEEZ 778,943 626,204 162,739
10 ARISRRIZAS 778,943 626,204 152,739
OARISRHE X 778,943
OMEERRE S5
1,200,000 ~45Z x 123 648,000
oMNESRR3 L=
309,840 x45H + 1=} 13,943
oMBERLF WS
3,400 x45EH 250 38,250
OMNEERRE SAHI
7,000 #45E +250 78,750
ABISXIAIE SALR SXI=2(0tS=X) 208,800 215,640 26,840
[ 41,760
Al 167,040
301 EtE NS 208,800 0 208,800
< 41,760
Al 167,040
14 IIEt2 83 208,800 0 208,800
OAMZISXIAIE BALX SX=Z(0tS=X)
208,800, 0002 *100% 208,800
< 41,760
Al 167,040




e EE SN OS2I
L FoE 01SEE

‘3%;2 OIs=XAIE 28 K& (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T < B Ofl r =e

QLESOIE SSMHEDIFH(OEE) 22 XA 581,712 492,624 89,0838
= 232,680
= 174,516
Al 174,516
307 2I2+01 ™ 581,712 492,624 89,088
= 232,680
= 174,516
Al 174,516
10 AlZISXAEHE2EHIEX 581,712 492,624 89,088
OREslis 88 24
145,428,000 *47H 2~ 100% 581,712
= 232,680
& 174,516
Al 174,516
LESOtE OEE(aH E&) ol 252 XA 95,277 86,615 8,662
T 19,055
Al 76,222
307 QI2H0| M 95,277 86,615 8,662
& 19,055
Al 76,222
10 IS SXAIEHE2EHIEX 95,277 86,615 8,662
QLESOIS IS5 (&H X&) 2118l B8
= K& 95,277,000 *100% 95,277
& 19,055
Al 76,222
SSMEIE (EH Z&) SAN HEY X 19,000 12,000 7,000
307 2Iz2+0l™ 19,000 12,000 7,000
10 Al ZXAIEHE2FHIE X 19,000 12,000 7,000
OSSMEIIE SALL SEEY X2
500,000 x 16 *22] *100% 16,000
O IloiotsaH SAtLH EE =Y XA
500,000 «6Z *13]+100% 3,000
XS 0ots4lE el X2 2,265,648 1,887,600 378,048
s 1,132,824
& 566,412
Al 566,412
307 QI2HO1 M 2,265,648 1,887,600 378,048
s 1,132,824
& 566,412
Al 566,412
10 Al S XAIEHE 22X 2,265,648 1,887,600 378,048
OXIS0ot=s4lE 18] X
2,265,648,0002 *100% 2,265,648
s 1,132,824




e EE SN OISESD
L FoE 01SEE

o4l Ol ssEXIAE 2% K (SH &)
A2 RA - ZB . O9(3) - HRAY - BAS Ol &t oI @S2
== 566,412
Al 566,412
XSots4HlE el =Jt XI& 697,120 560,305 136,815
< 139,424
Al 557,69%6
307 212H01H 697,120 560,305 136,815
= 139,424
Al 557,6%6
AR SXIAIEE 697,120 0 697,120
OXIH0otsHIE eldd] It X&
697,120,000 *100% 697,120
== 139,424
Al 557,6%6
XEotsHlEe 224 X 617,544 386,040 231,504
= 188,772
== 9,386
Al 334,386
307 212t01 ™ 617,544 386,040 231,504
s 188,772
= 94,386
Al 334,386
10 AlRIZXAIEHE2FHIE X 617,544 386,040 231,504
OXS0tsHEH Il 22|
346,344,000 *100% 346,344
sy 173,172
= 86,586
Al 86,586
OXIY0ISHE It 28I(CHIE X&)
31,200,0002 *100% 31,200
g 15,600
= 7,800
Al 7,800
OXSE0tsHE T2 08| =0t N (1E)
3,000,000 #4:Z I *200 2~ 240,000
NEotsdE 298 =t X& 32,136 30,072 2,064
= 6,427
Al 25,709
307 212+01 ™ 32,136 30,072 2,064
= 6,427
Al 25,709
10 AlRIZXAIEHE2FHIE X 32,136 30,072 2,064
OXlS0otsHlE! 249dl =t X
32,136, 0002 *100% 32,136
== 6,427




= SALEZ

Hu: Ho S Ot

==
<
el Ots=XIAE 23 KJ

2M 0S8

=9 (Srol: @)
AR -2 - ZB . (31H) - HRAY - BES Ofl &4 Oﬁ]gﬁ HDZS2
| Al 25,709
NHOSHE[SHE] & 8,600 39,600 31,000
= 4,300
= 2,150
Al 2,150
307 D120 8,600 39,600 31,000
= 4,300
= 2,150
Al 2,150
10 ABISTAlEHH 2| 2% 8,600 39,600 31,000
OXIHOtSHE[SLE] X
8,600,00021* 100% 8,600
z 4,300
= 2,150
Al 2,150
Aot HIE! Same0z X2 280,655 280,655 0
= 9,000
Al 271,65
307 2120 280,655 280,655 0
= 9,000
Al 271,65
11 MBI SXAZEE 280,655 280,655 0
OXIotSHEl SRS M@
45,000,000 * 100% 45,000
= 9,000
Al 3,000
OXIHotSHIEl ARSI TR (A%}
) 235,655, 00021+ 100% 235,655
NHOLSHIE] SAIX HE4Y K& 70,000 50,000 20,000
307 21240 70,000 50,000 20,000
NN EETEES 70,000 50,000 20,000
OXIHOLSHEl BAN SE+E X
500,000 70 251 * 100% 70,000
NAOSHIE S=012 X2 3,416 280,65 245,240
307 21240 3,416 280,65 245,240
DN NEEEEETEES 3,416 280,6% 245,240
OXI%otsHE S50 Nd
2,951,28021* 1§ A 128 100% 35,416
CHEINSSA o118 Xl 300,3% 208,000 ®?,3%
z 150, 168
T 75,084
Al 75,084
307 D120 300,33 208,000 ®?,3%
= 150, 168




e EE

Hu: HoNE Ot

A OlSESH

==
<
el Ots=XIAE 23 KJ

AESE VTR

SHRA(ZA) - HEAMNS - BES

Ofl &F2H

MEE
Ofl &k2h

H

75,084
75,084

10 Al2l SXIAIEE
OotEgnNEsA

d2EH

ikl

HL
FA

b

o

|
300,336,000 *100%

SRR

=

300,336

300,336
150, 168
75,084
75,084

208,000

92,336

| XI&

SRR

=

126,000
24,000
12,000
90,000

96,000

30,000

307 212t01™

SARNEY

=

126,000
24,000
12,000
90,000

96,000

30,000

10 A2l SXIAIEE
OtUEgNESSAH

23

H
gl

24|

>~

o

|
48,000,000 *100%

CO2-HI(nS)
78,000,000 »100%

SARNEY

=

126,000

48,000
24,000
12,000
12,000

78,000

96,000

30,000

SRRE]]

=

120,000
45,000
12,500
62,500

280,000

160,000

401 AIZHIZL 20

Mo

=

100,000
25,000
12,500
62,500

240,000

140,000

01 Al&HI
Otig =S At

AxHl(el2gd) XA

50,000,000& *14]

IlsE(el2eE) XI2(

50,000,000& *14]

SRR

100,000

50,000
25,000
12,500
12,500

50,000

240,000

140,000

=]

20,000
20,000

40,000

20,000

20,000

40,000

20,000




= SALEZ A OlSESH

M FHANE OtsES
tel: OFS=XIAE 28 X (SH9 H2)
Al = % o|(5 = dEe =
R RA B OFI(SIH) - IRAY - BES ofl & e HDS2
OUretH=s At EXI8I(IIXHMY]) XI&
20,000,000 *100% 20,000
= 20,000
CEtiEsdH olgs N (Ws) 72,000 0 72,000
307 QI2t01™ 72,000 0 72,000
10 Al ZXAIEHE 22X 72,000 0 72,000
OtEgnssddH olgg N&
60,0002 x25%H «4 I} 2+ 12JH & *100% 72,000
CIEtHESSHE SAA GE X2 12,000 12,000
307 QI2+01 ™ 12,000 12,000
10 MEISXAIEHE2IHIEEX 12,000 12,000
OUENESHEH AL ZBEY XA
500,000 3 x3% *4JH 2 23| *100% 12,000
CEINESHH SAL =022 =2 KId 3,092 13,248 A10,156
307 QI2+01™ 3,092 13,248 ~10,156
10 MEISXAIEHE2EHIEX 3,092 13,248 ~10,156
OUetNEsME SAA =022 2= X
& 9,200 *2H *4IH 2 x42 A 2 100% 3,092
XYotsdE Jls22 X 177,000 0 177,000
< 60,000
Al 117,000
402 QIZERHE0I M 177,000 0 177,000
< 60,000
Al 117,000
02 QIZEXHE AL 2 X (01 & THE) 177,000 0 177,000
OXY0tsHH JIs2Z(0E 0] SEXH)
A& 30,000,000 *4IH A~ *1CH*100% 120,000
== 60,000
Al 60,000
OXY0ISHH Js22(&dMd) X&(
<) 19,000,000 *30H A 57,000
FAAHS Ols =X X 667,965 744,790 NT6,825
= 387,900
(o= 65,885
Al 214,180
A= 198,000 180,000 18,000
= 178,200
[ 13,860
Al 5,940
301 LtENZ 198,000 180,000 18,000
= 178,200
[ 13,860
Al 5,940
01 AISIEEH 63 (S REXTHE) 198,000 180,000 18,000




eV HEE: A OlEEg
Hu: FoE OlsES
ool oS ols =X A (cre:xigl)
AR RA BB O(SH) - MSAY - BAS 0 &y e HIRS2
OMHA=0 198,000,000 & =14 198,000
= 178,200
T 13,860
Al 5,940
25Fs 0ls XNE=2 XE At 299,565 342,000 N42,435
= 209,700
T 17,945
Al 71,920
301 EtEXZ 299,565 342,000 N42,435
= 209,700
= 17,945
Al 71,920
01 Al BEE4HS(2DEXE) 299,565 342,000 N42,435
OEsE=0ts MY K=
299,565,000 * 14 299,565
= 209,700
& 17,945
Al 71,920
230ts s=EHEH XA 72,400 68,040 4,360
= 14,480
Al 57,920
301 LEBNZ 72,400 68,040 4,360
= 14,480
Al 57,920
02 AISIBEESHS(FHUHS, NYWE) 72,400 68,040 4,360
OB&0ts s8Iigdl X
72,400,000 * 14! 72,400
& 14,480
Al 57,920
2350ts UistEord g KA 48,000 48,000 0
= 9,600
Al 38,400
301 LEBNZ 48,000 48,000 0
= 9,600
Al 38,400
02 AISIBEESHS(FHUHS, NSM) 48,000 48,000 0
OE&0ts erMeotd =z X
250,000& x24H+8 & 48,000
& 9,600
Al 38,400
230ts AEEF=Z XE 50,000 100,000 50,000
T 10,000
Al 40,000
301 EtEXZ 50,000 100,000 50,000




L =xee=
L FoE olEEs

A OlSESH

ciol: oS OfE =X AR (cho): 22l)
AR RA BB O(SH) - MSAY - BAS 0 &y e HIRS2
= 10,000
Al 40,000
02 AISIBEESFZ2(FHUHS, NYMHE) 50,000 100,000 250,000
2350ts NEEHEZ A
10,000,000 *5H 50,000
& 10,000
Al 40,000
FAAHS Ots JHE/E XA 1,543,902 1,779,846 A235,944
= 572,974
J| 87,758
= 56,720
Al 826,450
Ny E 2= I 600,000 660,000 60,000
301 LEBNZ 600,000 660,000 60,000
02 AISIBEESHZ2(HUHS, NEWE) 600,000 660,000 A60,000
OJERE AREXS 600,000
o7Al 0]8t 300,000& x5+ 12& 18,000
< 13Al OIBt 400,000 x15H x 122 72,000
o 13Al Ol&t 500,000 x85H * 122 510,000
HIIIEE M20ts2SH| K& 24,000 36,000 12,000
= 16,800
T 1,440
Al 5,760
301 EtEXZ 24,000 36,000 12,000
= 16,800
& 1,440
Al 5,760
01 Al BEE4HS(2DEXNE) 24,000 36,000 12,000
OHNEBIHE/E M20ts E3H| XA
1,000,000 x2H x 122 24,000
= 16,800
& 1,440
Al 5,760
OtsE2& g4l XA 361 1,250 889
= 252
& 109
301 EtEXZ 361 1,250 889
= 252
T 109
01 Al BEE 462 (2DEXE) 361 1,250 889
O0tsEZ 72l X
180,500 *2H 361
= 252




e EE

A OlSESH

M HoE OlsEs
Ciel FOOHE O JlESS N (ol m2)
A2 .24 ZE . S2(E) - NIRAY - BES ol b e HlmS2
| = 09
242 - JIELE Ot AelXl=zdl XI& 5% 6,600 26,004
= 417
= 36
Al 143
301 LB F 5% 6,600 26,004
= 417
= 36
Al 143
01 A BE X2 (2 REETA) 5% 6,600 26,004
O JIHE?E0ls &elxi=dl X
596,000 & * 14! 5%
= 417
= 36
Al 143
LA aots 2| X2 12,000 0 12,000
= 8,400
T 720
Al 2,880
301 LPENZ 12,000 0 12,000
= 8,400
= 720
Al 2,880
01 MBI BEAHZ2(2DEXTHA) 12,000 0 12,000
LAUAOts 24| K&
12,000,000 14! 12,000
= 8,400
& 720
Al 2,880
UA0LS ItE KA (YY0ts d=REXZ) 98,400 84,000 14,400
| 68,880
= 5,904
Al 23,616
301 LBENF 98,400 84,000 14,400
| 68,880
= 5,904
Al 23,616
01 AISIBE X 2GS (2 LETME) 98,400 84,000 14,400
OYLOLE YFEE2
200,0002 »41H 123 98,400
| 68,880
& 5,904
Al 23,616
U2A0LE IHE XA (MY A0S X=2EXZ) 26,968 8,162 18,806




= SALEZ A OlSESH

M HoE OlsEs
Ciel FOOHE O JlESS N (ol m2)
AR RA BB O(SH) - MSAY - BAS 0 &y e HIRS2
J| 18,878
T 1,618
Al 6,472
301 EtEXZ 26,968 8,162 18,806
J| 18,878
& 1,618
Al 6,472
01 Al BEE4HS(2DEXE) 26,968 8,162 18,806
O&0ls d=EEXZ
26,968,000& x 14! 26,968
J| 18,878
& 1,618
Al 6,472
OtsSZLEXI2AHZ XA 781,577 978,404 196,827
= 547,105
& 46,893
Al 187,579
301 EtENZ 781,577 978,404 196,827
= 547,105
== 46,893
Al 187,579
01 Al BEE 462 (2DEXE) 781,577 978,404 196,827
OO0tsLE XA X XA
781,577,000 14 781,577
= 547,105
= 46,893
Al 187,579
CEAEE AIY 158,630 208,600 49,970
Fay 122,824
= 9,212
Al 26,5%4
FHAHNE OtsSEAEIA XA 158,630 208,600 49,970
s 122,824
T 9,212
Al 26,594
201 LEt2HH| 81,470 112,800 31,330
rag 63,976
= 4,798
Al 12,69
01 AtR2teldl 20,770 18,600 2,170
Ogt~ZH]| 7,500
OAIRES FLH| 1,000,000 * 1A 1,000
g 800




e EE

M FAAS OtsE=
(]
=

£A Ot

il
H
Ho

Chel: SEAEE At CEEREE
U A - BH - ERIE) - HRAY - BES of &4 e HIREY
[ 60
Al 140
oY =235 78 00000031+ 1A 3 000
z 2,400
[ 180
Al 420
o=2E2=E MAH 3,500,000 %14 3,500
= 2,800
< 210
Al 490
ONEHH 2| 3,000,000 14! 3,000
= 2,400
[ 180
Al 420
Oo=g=+g 2,370
oOtsS=EXN WAL &3 EAd
70,0003 6 *13] 420
z 336
T 25
Al 59
oOtSEX WAL o223 &giH|
100,000 %14 100
z 80
< 6
Al 14
oCHARE 2HR33 HAxH
a 150,000& 7 & = 13] 1,050
= 840
< 63
Al 147
o2RAHHIA NEFE 500 00051 1A -
= 640
< 48
Al 12
Os+HUIEHMA 2= 3,400
oS EHFHHIOIN =& > 40001 > 40
= 1,920
< 144
Al 336
oUlF #IHHIA Aldty] 1 000,000 31 1A -
= 800




L =xee= A : OF
L FOE O1SEE
: CEAEIE At

il
H
Ho
[

2.2 R OB - HEAY - BES Ofl AroH Oﬁ]gﬁ HDE2

H
3

Al 140
] 4,500

3,000,000 14l 3,000
z2 2,400
< 180
Al 420
oMHDIRA A WKHI(AHIZI)
1,500, 0002 14! 1,500

® I229Y| 3,500 11,600 8,100
02322 ¢ HA 2,000,000 14! 2,000
1,600
120
280
OAIEEH| | 1,500
1,200

= M

Mo

=

210
03 #HAI2YY| 57,200 82,600 225,400
EIE =23 23|

57,200,000& » 14 57,200
45,760
3,432
8,008

Mo

=

202 04| 10,800 10,800 0
5,760

43?2
4,608

Mo

=

01 =LA LI 10,800 10,800 0
OOtsSeAtal2el At 2044
150,000& x4« 123 7,200

5,760
432
1,008

SARNEY

=

O
In
o
|>
m
Im

oA
=

SET 048I (AlHI=IH)
100, 0002324+ 128 3,600

wW
2
o
rz
HT
r
oy

66,360 85,000 /18,640
53,088
3,982
Al 9,290

SRRE]]

01 Al EEATZ(2REZME) 59,400 75,000 /15,600

59,400,000 x 14! 59,400




A= SXeHE= 2A  OtSESH
g FHYAS OISES
Hel: EZAEE MY (SH9 H2)
Al = % o|(5 = dEE =
A2 RA - ZE - OR(BH) - HRAY - B S o &k e HimE=
= 47,520
< 3,564
Al 8,316
11 AN’ S 6,960 10,000 3,040
OEZAERE Z208 &It 24
6,960,000 14| 6,960
s 5,568
< 418
Al 974
2=2=Xs8d 56,395,839 57,834,930 1,489,091
= 28,669,639
CH 340,000
< 17,760,774
Al 9,625,426
ooy 24¢ X1 22,907,879 21,229,942 1,677,937
= 9,413,938
CH 340,000
< 5,773,083
Al 7,380,858
2SR =4 % ESAY 2 27,800 26,300 1,500
201 Let=d] 11,400 9,900 1,500
01 AlR2teldl 9,400 5,900 3,500
Ooget=24| 1,000
o=ZENH0E S&++2
1,000,000& *14! 1,000
Oo=2g8=+d 8,400
oHFYMA FH =&
100,000& x 14 +63] 8,400
2 s5=34l 2,000 2,000 0
OESMZ =s80el0ld 352
2,000,000 14} 2,000
202 Ot 5,400 5,400
01 2LHOY] 5,400 5,400
OE=dd A= O
20,0002 x6 & *455] 5,400
301 LetENZ 6,000 6,000
1 BARHIXES 6,000 6,000
OO0lgloly WA d== It S
6,000,000 14| 6,000
307 2I2+01& 5,000 5,000
1 ARRIEXIAISE X 5,000 5,000
SSwAA MOIL X2
5,000,000& *100% 5,000
F2o0ig0ly 28 X 66,330 29,000 37,330




43 =xeas 2N OlsE|D
M BR=NE
&2l ool S% A& EERCED
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T < B Ofl &k o se
307 QI2HOl A 66,330 29,000 37,330
10 Al SEXAIEHE2ZHIEX 66,330 29,000 37,330
Osgoeoly 2¢ X
13,266, 0002 *5IH 2 *100% 66,330
Z2lelold XA 13,500 12,000 1,500
307 gI2tol ™ 13,500 12,000 1,500
1 ARRISXAIEE X 13,500 12,000 1,500
OZelHelold T2 Al XI&
250, 000 *540H 2% 100% 13,500
FHAEAHE 2 223,700 215,000 8,700
201 Let23| 37,000 37,000 0
01 ArR22eltl 37,000 37,000 0
OFULTAZ ARZ
37,000,000 14! 37,000
307 QI2Hol 186,700 178,000 8,700
05 QIZtREI S 186,700 178,000 8,700
OFHAEZANZ 22b| N
70,000,000 *100% 70,000
OFHZEAZ 2H3 2124 X
38,900, 0002 *3H *100% 116,700
LEAN FOISEXJMEH At K& 549,976 526,640 23,336
307 212+01 A 549,976 526,640 23,336
1 A =XAIEE X 549,976 526,640 23,336
OUN ZeI& X
25,743,000 x2Z *100% 51,486
OE|WAL OHF WR(MHAMS S)
4,000,000 *100% 4,000
O0gloly Stz sotd otd X
6,593, 2002 *75ZH *100% 494,490
LEA SO0ISEXNJEH 23 XA 300,000 266,000 34,000
& 25,200
Al 274,800
307 gI2Hol ™ 300,000 266,000 34,000
& 25,200
Al 274,800
10 AlZISXAEHE2EHIEX 300,000 266,000 34,000
OLEA SOIBEAAEEH 22 XA
126,000,000 *100% 126,000
T 25,200
Al 100,800
OZEA KOIZEXJHEH 212HH| 2=E(
AIBIZED) 174,000, 0002 *100% 174,000
AN SOISEXZNE 22 DIELs JIA(R2nS 25,000 25,000 0
Ar) (R EALY)
& 15,000




A= =xoe= SN OS2I
Hu: BRI
9l OfRI0E 2% X (el mel)
AT S4B BR(E) - HRAY - BES 0] a0t A HlRE2
Al 10,000
307 SI2H0IH 25,000 25,000 0
= 15,000
Al 10,000
e EEEETIEES 25,000 25,000 0
OIIFYS NR(F2DS AR
25,000, 00021 % 100% 25,000
= 15,000
Al 0,000
DTHORI0IZ SYHI(HEAI) 2,240 966,555 224,315
= 829, 171
Al 113,069
307 SI2H0IH 2,240 966,555 224,315
= 829, 171
Al 113,069
e EEEETIEES 2,240 966,555 £24,315
OZZHORIOE X2
942,240, 00021 % 100% 42,240
= 829, 171
Al 113,069
OIRI01Z SHFBH Jte) X 64,061 64,814 AT53
= 4,412
Al 59,649
307 QI2H0IH 64.061 64,814 AT53
= 4,412
Al 59,649
06 P& 64,061 64,814 AT53
OO{ZI0IE HEBH It X2
22,061, 00021 % 100% 22,061
= 4,412
Al 17,649
OO{2I01F MBI Jte XA (AIHIZ=IH)
42,000, 0002 100% 42,000
IO Of2I01E WH| X9 60,000 60,000 0
307 SI2H0IH 60,000 60,000
W NEEEETIEES 60,000 60,000
OZIIRI(I5. 24)012I018 Y| X2 60,000
©4091015t 02101
400, 0002407 2+ 100% 16,000
©4121014¢ 6021015+ O2I01E
600, 00024 %200 4 *100% 12,000
©6121014¢ 8021015+ O2I01E
800, 00021+ 1574 4+ 100% 12,000
o8121014¢ 02101
1,000, 0002 %207 A+ 100% 20,000




A= =xoe=
Hal: BR=NST

A OlSESH

oHelr oglold 29 X (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
HOOIM = Hel0ld MEXls T2 X3 5,000 5,000
307 QI2H0| A 5,000 5,000
10 Al SXAIEHE2ZHIEX 5,000 5,000
OO Z KBI0lE MEXS Z2 18
A& 5,000, 0002 *100% 5,000
BRUAM H2ME (25 =) 165,000 165,000
307 gI2Hol ™ 165,000 165,000
10 AlZISEXAEHE2EHIEX 165,000 165,000
OEFUA B 252 165,000
=350/4 2RWAL
30,0003 «80H 122 »100% 28,800
=5E0(a 2RWAL
50,0002 *35E 12 +100% 21,000
o7E0IA 2R WAL
70,000 *55H 122 x100% 46,200
=10E014 22 WA
100,000 x36E 12 x100% 42,000
=158 014 2R WA
150,000 * 15«12 +100% 27,000
AMZHHES MBIA(E4A) 369,374 230,000 139,374
= 184,687
& 129,281
Al 55,406
301 LetEEZ 49,374 30,000 19,374
= 24,687
& 17,281
Al 7,406
01 AISIEE A 63 (2 REXTE) 49,374 30,000 19,374
OANZIHHIES BEZ2
49,374,0003 14! 49,374
= 24,687
& 17,281
Al 7,406
307 QI2Hol M 320,000 200,000 120,000
= 160,000
T 112,000
Al 48,000
10 Al ZXAIEHE 2FHIEx 320,000 200,000 120,000
OARRINIES 23|
320,000,000 *100% 320,000
= 160,000
T 112,000
Al 48,000
SR lAd] K& 9,955,346 9,160,350 794,996
= 5,973,208




HEE
. BE=XEN
L OjRI0IE 2% X

A OlSESH

(Sl &&)
AR .2 - HH . t:}.<,>_|(§|)1|) c NIEAIY - HA S Of| AFOH SEE Hnz=2
d=-FA-8%-0 v = - 0 Ao ==
< 2,787,4%4
Al 1,194,644
307 QI2HO| A 9,955,346 9,160,350 794,9%
= 5,973,208
= 2,787,494
Al 1,194,644
10 Al ZXAIEHE2FHIEx 9,955,346 9,160,350 794,9%
OEsuHA 22| 9,955,346
o=ZE goloaold
8,364,741,0002& *100% 8,364,741
= 5,018,845
T 2,342,127
Al 1,003,769
oHOIMEMHE01E
906,516,000 *100% 906,516
= 543,910
& 253,824
Al 108,782
o ZOHOHE 2101 &
392,544,000 *100% 392,544
= 235,526
& 109,912
Al 47,106
SAZAEE WA
169,285,000 *100% 169,285
= 101,571
& 47,39
Al 20,315
o ZOHOIS & WAt
122,260,000 *100% 122,260
= 73,356
& 34,232
Al 14,672
SXWA, CHAMIWAL XA 3,306,111 3,044,181 261,930
= 1,983,667
& 925,710
Al 3%,734
307 212t01 & 3,306,111 3,044,181 261,930
= 1,983,667
L= 925,710
Al 3%,734
05 QIR”IIE S 419,173 403,212 15,961
OUM A XIA 419,173,000& * 14 419,173
= 251,504




il
H
Ho
<]

2 =108 =M ot

Hal: BR=NST

9l OfRI0E 2% X (chol @)
424 - ZH - O9(E) - MRAY - BES ofl & A HDS
= 117,368
Al 50,301
10 AlBIZXA LB Z 2 2 S 2,886,938 2,640,969 245,969
ORXRA N (HBBF MLYWA N T
2) 2,886,938, 00024 100% 2,886,938
= 1,732, 163
= 808,342
Al 346,433
SRR WML Xg 1,774,671 1,704,907 69,764
= 1,064,802
= 496,907
Al 212,962
307 L1201 1,774,671 1,704,907 69,764
2 1,064,802
= 496,907
Al 212,962
10 ABIZ A S Y2 2 X 1,774,671 1,704,907 69,764
SUMAHARES MDA K
1,514,299, 00021 100% 1,514,299
2 908,579
= 424,003
Al 181,717
OS0l& 2RWA SEg
260,372, 00021 100% 260,372
2 156,223
= 72,904
Al 31,245
ORI0IE RAA MM X 842,560 809,280 33,280
= 168,512
Al 674,048
307 QI2H0IH 842,560 809,280 33,280
= 168,512
Al 674,048
10 MBS A S H 22X 842,560 809,280 33,280
OFROINBAL SSDA HRHA
375,600, 00021 % 100% 375,600
= 75,120
Al 300,480
OBSINY BRLY
230,800, 00021+ 100% 230,800
= 46, 160
Al 184,640
OYotet B WA S
219,360, 00021 % 100% 219,360
= 43,872




= SALEZ

L= EESS

A OlSESH

CHell olelold 29 XY (St &)
A2 2N - FB - O9(E) - HIRAY - BES Ofl b A HlRE2
Al 175,488
OZO0HOt O1RI0IE EFuAt =¢
16,800, 0002 *100% 16,800
< 3,360
Al 13,440
oelold X2 218,840 164,000 54,840
= 131,304
< 61,275
Al 26,261
307 2Ito1H 218,840 164,000 54,840
= 131,304
< 61,275
Al 26,261
10 Al2ISTIAEEE2HIEX 218,840 164,000 54,840
ONE0IE WIHL -]
60,000, 000& *100f% 60,000
= 36,000
< 16,800
Al 7,200
Oxtgr2gl 64,800, 000& *100f% 64,800
= 38,880
< 18,144
Al 7,776
Os0EAM Heloglold
22,040,000 *100% 22,040
= 13,224
< 6,171
Al 2,645
OsAlAY 2elXd=s
72,000, 0002 *100% 72,000
= 43,200
< 20,160
Al 8,640
Oelold 2gHl S N 195,000 164,700 30,300
< 58,500
Al 136,500
307 2I2to1 195,000 164,700 30,300
< 58,500
Al 136,500
10 ARISTAIEHE2SHEX 195,000 164,700 30,300
O0ieloldy =g &8s A& 195,000
o=3Y, HF(BMHE)
45,000,000& *100% 45,000
< 13,500




S = E'%-E.‘
SEo NS

A OlSESH

el oglold S% A& (SH &)
AR RN BB G(SH) - MRAY - BES 0l Ao A CmE==T
Al 31,500
=5JHEH 015HBE6IHA)
90,000, 0002 *100% 90,000
= 27,000
Al 63,000
o6IHEH 014 (2714 )
60,000,0002 *100% 60,000
s 18,000
Al 42,000
ool 32ga X 169,600 191,250 A21,650
= 33,920
Al 135,680
307 gIztold 169,600 191,250 A21,650
= 33,920
Al 135,680
10 Al2IS XA EEE 22X 169,600 191,250 £21,650
OO0lglold dtad| X
60,000,0002 *100% 60,000
& 12,000
Al 48,000
OFPXY H0lE W -Hl K&
37,000, 0002 *100% 37,000
= 7,400
Al 29,600
O33g=xcl¥ ddl K&
72,600,000 *100% 72,600
& 14,520
Al 58,080
Oolgloly getEtls A 51,030 13,965 37,065
= 10,206
Al 40,824
307 QIztol ™ 51,030 13,965 37,065
= 10,206
Al 40,824
10 AlBIZS XA E2EHIEE 51,030 13,965 37,085
OMASE Ot K0y gerEtlg X
51,030,000 *100% 51,030
T 10,206
Al 40,824
Oeloly 201 I Xtel KI2 654,000 654,000 0
= 129,360
Al 524,640
307 gIztol 654,000 654,000 0
= 129,360




HEE
Hal: BR=NST

A OlSESH

oHelr oglold 29 X (SH9 H2)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HimE==T
Al 524,640
10 AlBISTIAIEEE2EHI2X 654,000 654,000 0
ONEloly 2x013 dxte| X
646,800, 0002 *100% 646,800
& 129,360
Al 517,440
OZOIE 2001y 22018 dXte| K
(AlHl Z=2H) 600,000 * 12 %123 x100% 7,200
oelold JIsE 162,540 182,000 129,460
= 76,270
< 38,135
Al 38,135
402 QIZEXH201H 162,540 182,000 129,460
= 76,270
[ 38,135
Al 38,135
02 QI X2 AL EE (01X THE) 152,540 182,000 129,460
O0glold JIsEd ==
30,000,000 *57H A+ 100% 150,000
= 75,000
(= 37,500
Al 37,500
O0glold JIs82 ME=(0ICIHETHXRI)
2,540,000 *1JH A+100% 2,540
= 1,270
< 635
Al 635
Oelold RREa(SLEsHl) X 1,549,000 1,400,000 149,000
307 2Ito1H 1,549,000 1,400,000 149,000
1 ALEISTIAISEE X 1,549,000 1,400,000 149,000
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M4 II2H2E2XNSES 29,930 29,460 470
OMNESAIXIII SREX 2124H|
29,930,000& 14! 29,930
= 14,965
Al 14,965
201 LEt2AY| 127,016 129,486 N2,470
= 63,508
Al 63,508
01 A22teld| 127,016 129,486 N2,470
O1.191F &ERIF EE*==2
41,6362 *146,659E K| /622 X|*110% 108,338
= 54,169
Al 54,169
O21A,0|2aIE XDt BEx=2
20,8182 #1552 X[*110% 3,550
= 1,775
Al 1,775
O7.191F MERIF EE*==2
41,6363 *2, 2022 X[ *50%*30%110% 15,128
= 7,564
Al 7,564
202 04t 3,600 3,600 0
= 1,800
Al 1,800
01 ZLHHI 3,600 3,600 0
OMESAIXII EXNSEHEA FEOYI
20,0002 x6H *303] 3,600
= 1,800
Al 1,800
SADIEAIE B2l 29 659,818 637,211 22,607
T 7,000
Al 652,818
SUHEE2Y 461,820 383,420 78,400
201 LEt2HH| 173,020 131,220 41,800
01 A2l 173,020 131,220 41,800
Oget=gH| 2,000
oZ2HAE AH|2tel
2,000,000& * 14| 2,000




A2 =702 FA AR
M NEE XNEHY 28
Chel: SADIEIAIA Eeld 2 (SH9 H2)
Al = £ o|(5 = dET =
AZ . 2A - BB G(3) - MSEAY - BYS Ofl r ot S HRE2
OzelE4H] 171,020
o ZAUBHEAAH(SN) RAE+
115,600,000 14! 115,600
o BAUFEAAH(HN) X2
10,420,000 » 14 10,420
oETHI(IIDIEE) SEEAM
45,000,000 x14] 45,000
202 Ot 3,200 3,200
01 2oL 3,200 3,200
O32EE 230l
20,0008 x4 »408] 3,200
401 AlZBIL S THYI 264,000 249,000 15,000
01 AlZHI 255,000 245,000 10,000
OEZIIEIAIEE HeXA R GIS B 75
200,000,000 x 14! 200,000
020238 = StSAY HALE 2 M=
55,000,000& * 14 55,000
03 A& S CHYI 9,000 4,000 5,000
OAl4 S THYI 9,000,000 %14 9,000
405 AHAHESH 21,600 21,600
01 Tt 2SS F=HI 21,600 21,600
OSUEZAIAE A X 2HMA 7L
10,800,000 x24 21,600
C2H 2 FAFBAIE2CIAMY 94,998 202,791 A107,793
201 Ler23| 1,560 9,700 28,140
01 At2teltl 560 8,700 28,140
Oo=g=+g 560
oFATE RS FYFA
70,0003 *4H+13] 280
oX&Ez 2AFS =&
70,0002 x4 13 280
02 s5=34l 1,000 1,000 0
0332 € AMAl 1,000
o AOLE KAIS S| S4lz
1,000,000 14! 1,000
308 XFXIEME0IH 93,438 119,341 25,903
13 S [2S0He 4 A AS A 93,438 119,341 125,903
02025 F=AZHSAUCIAAE(KAIS) XHMICH 2
= 2 |X2el 51,120,000 * 14! 51,120
o025 UMF=4A 25 & FAZEIEE R
Xizel 42,318,000& 14! 42,318
FAEEAE 2E & IJHIAE 103,000 26,000 77,000
< 7,000
Al 96,000
201 LEH2 | 59,000 0 59,000




2: =y A XD

Hu: DEI NNHY D8

Chel: SADIEIAIA Eeld 2 (SH9 H2)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
[ 5,900
Al 53,100
01 At2tltl 59,000 0 59,000
Oggt===H| 8,000
oL 2YUFA ASHSE 2HE 7Y
8,000,000& 14! 8,000
< 800
Al 7,200
OogegrE9] 51,000
OFANBAY LN EA
51,000,000& » 14 51,000
< 5,100
Al 45,900
401 AlEHIYL S THYI 44,000 26,000 18,000
< 1,100
Al 42,900
01 AlZHI 44,000 26,000 18,000
OFAEEAL &5 2 FHl
11,000,000& » 14 11,000
< 1,100
Al 9,900
OF2ZEANE &5 L FHI(AHIFI})
33,000,000 *14] 33,000
et NHSF 2l 275,800 75,900 199,900
= 65,600
< 26,000
Al 184,200
S XNAUO0IH &bl 22,000 22,000 0
201 er=2 3| 22,000 22,000
01 AtR2t2l] 22,000 22,000
Ogit=2H| 22,000
oA EREA =Y =2
200,000 1002 A 20,000
oXAdHEH =Xt
250,000 82 2,000
ANEZFEIIEE S 30,000 30,000
401 AlEHIYL S THYI 30,000 30,000
01 Al&HI 30,000 30,000
OXH=EII1EE FH|
30,000,000 *14] 30,000
ettt NESFEel 283 3,200 3,200 0
202 Ot 3,200 3,200
01 =LHoi 3,200 3,200
Oodset NHEF del =0d|
20,0003 x4 »403] 3,200




A= SXeAE= A XA
3 DEE NXYY 78
ool F=tet NESR 22 (Gt H2)
Al = % o|(5 = dEE =
A2 2A - B 9(3) - HIRAY - BES Ol & S DS
NHIIE2 Mot #15 20,000 20,000
207 AN ] 20,000 20,000
02 H&HIHE] 20,000 20,000
OXHIIES datsgt 2=
20,000,000 14} 20,000
X 2e| A 600 700 A100
= 600
202 0| 600 700 A100
= 600
01 20 600 700 2100
OGPSEAI 2= A SR 22| K
20,0002 1 *302] 600
= 600
212 DISSEEN & ASXEHET A 200,000 0 200,000
= 65,000
< 26,000
Al 109,000
201 LetE gyl 200,000 0 200,000
= 65,000
< 26,000
Al 109,000
01 At22teltl 200,000 0 200,000
Oxn2 DISSEEXN & ASXHE YA
& 130,000,000 *14] 130,000
= 65,000
< 26,000
Al 39,000
Ox72 DISSEEXN & ASXHE YA
& (AIHIZ=DH) 70,000,000 * 14! 70,000
X g5 2l 2,243,220 3,154,015 1910,795
= 545,720
Al 1,697,500
KIETHZEAALS 545,720 456,515 89,205
= 545,720
201 LetEaY| 25,986 21,738 4,248
= 25,986
01 Ab2teltl 5,986 6,733 AT52
OXIHTHZAIAIE 22
5,986,000 14 5,986
= 5,986
2 55234l 20,000 15,000 5,000
OXIHTHZAIAIE 22
20,000,000 14} 20,000
= 20,000




A= SXeHE= SA  RED
M D5E NZ™HY 28
gelr EXo e85 2el EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
308 XXM SOl 519,734 434,777 84,957
= 519,734
13 SO 2 SOUEHE &4 X 2AS A 519,734 434,777 84,957
OXIHTHEAIALY &
519,734,000& x14] 519,734
= 519,734
KIZTHZEAF 1,697,500 2,697,500 1,000,000
201 Let2d| 153,500 153,500 0
01 AlR2telHl 153,500 153,500 0
Ogit==H| 150,000
SECNAXNA(TAIHEAEL) E By 5=
= 90,000,000+ 14! 90,000
oHENHE HY ==
10,000,000+ 14| 10,000
oXFSUE 2FEIr4E
50,000,000 *14] 50,000
O=2g+¢ 3,500
SXIETEAL 2 21238 3|2=F
70,0002 x10H+53] 3,500
202 Ot 9,000 9,000
01 2oL 9,000 9,000
OXIHTHZEAH =& 0]
20,0002 x5 #4653 4,500
OXIHTHEAR2 =& 0]
20,0002 x5& #4535 4,500
301 LetEAS 1,500,000 2,500,000 1,000,000
1“2 d S 1,500,000 2,500,000 1,000,000
OXIETHEAAE =83
1,500,000,000& * 14! 1,500,000
401 AIEHIZL 20| 35,000 35,000
01 Al&ZHI 35,000 35,000
OXIHTHEAIAIE X SARE M=
20,000,000 * 14! 20,000
OJI=8=sgdrsi 15,000,000 * 14! 15,000
slEsdEet NXHYUANMEA WS 157,454 194,379 N36,925
NHEA 22l & 29 163,254 190,179 N36,925
201 Let=Ehl 46,754 30,824 15,930
01 Al22telHl 46,754 30,824 15,930
Oget+=24] 12,050
CRSMBHEA YR S22 M=A
10,0002 20074 2,000
oINS ASHAL HE M=
33,5002 300 10,050
OZelEg%] 34,704




A XA

M DEE NHSH 2
s dEFES XAFHBIAMEA WS EER=E)
A 2A - FH . G(BH) - NRAY - BES 0 &y A HIRS
o2 SABEHIPAIAE APHW) SR>
680,000 * 1204 2 8,160
oS AEHILAIAB(HW) RX2=
820,000& <1274 & 9,840
o SABEIFAIAH(S/N) RX2=
292,000 #40Hx 1204 14,016
oSERALZI| RAES
52,0004 *3CH* 12042 1,872
oNMIEH UASHAIAY SES
68,0003 *1CH 1202 816
301 LEIEE S 1,500 1,800 2300
14 JIEt2 8= 1,500 1,800 2300
O3 ISHAIY ADEAS
500,000 32 1,500
405 THEF S 105,000 157,555 AB52,555
01 ML ESFSHI 105,000 157,555 52,555
OSRSHUEESFAIAE BAH 2
105,000,000 *1CH 105,000
AEAEE XXM MHIA WS 22| 4,200 4,200
202 04l 4,200 4,200
01 =LH0i 4,200 4,200
OXIETES NFRIRAMEIA HE FEAY]
20,0002 x6& *353] 4,200
HY2HZHI(XIE D) 47,080 47,548 1468
Jl=23sl 47,080 47,548 2468
Jl=3H] 47,080 47,548 A468
201 ger= 3| 35,020 35,488 468
01 AtR2t2l] 35,020 35,488 /468
Oget=ZH] 28,000
cHTANRES 7,000,000 14! 7,000
OMNPARHAZEY
7,000,000 *14] 7,000
oA AH| =2/ 6,000,000 14! 6,000
oJ|Et B =EH| 8,000,000& *14] 8,000
Os4ltl 9,000 x 13 +52 x 122 7,020
202 04t 7,200 7,200
01 =LHoi 7,200 7,200
OJlzge =&t
80,0003 302 +33] 7,200
203 2=l 4,860 4,860
M EASHLRFA 4,860 4,860
ORM2IYER=A 405,000« 128 4,860




